
CHEMISTRY

BOOKS - NAGEEN CHEMISTRY (ENGLISH)

ORGANIC CHEMISTRY : SOME BASIC PRINCIPLES AND

TECHNIQUES

Examples

1. Write the IUPAC name of the following compound: 

Watch Video Solution

CH3 − CH
∣

C2H5

−

CH3

∣

C H − CH2 − CH = CH2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XValyzgdX5ia


2. Write the IUPAC names of the following compounds: 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH2 −

CH2CH3

∣

CH − CH
∣

CH2CH3

−

CH2CH3

∣

CH − CH3

3. Write the IUPAC names of the following compounds: 

.

Watch Video Solution

(CH3)2C =

H

∣

C −

CH3

∣

CH(CH) = C(CH3)2

4. Write the IUPAC name of the following compound: 

Watch Video Solution

CH3 −

O

∣ ∣

C −

CH3

∣

CH −

Cl

∣

C
∣

C2H5

−

CH3

∣

CH −

NO2

∣

CH − CH
∣

C2H5

− CH3

https://dl.doubtnut.com/l/_SxObDqOd2ckq
https://dl.doubtnut.com/l/_tT47it8vsYxn
https://dl.doubtnut.com/l/_0Ajn9EBZhLol


5. Write the systematic IUPAC name of the following compound. 

Watch Video Solution

CH3 − CH
∣

C2H5

− CH = CH −

CH3

∣

C
∣

C2H5

−

NO2

∣

C H − CH2 −

O

∣ ∣

C − Cl

6. Give the IUPAC name of the following compound: 

Watch Video Solution

7. Derive the structure of the compound having IUPAC name 3-amino-4-

methylpentan -1-oic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_HpR2ggZ3dtjE
https://dl.doubtnut.com/l/_9fOkUAJe0RpF
https://dl.doubtnut.com/l/_3wYceEqKT3tK


8. 0.29 g of an organic compound were analysed by Liebig's method. The

increase in the mass of U-tube and the potash bulbs at the end of the

experiment were found to be 0.27 g and 0.66 g respectively. Calculate the

percentage of carbon and hydrogen in it.

Watch Video Solution

9. In Duma's method 0.206 g of an organic compound gave  of

moist  at  and 760 mm Hg pressure. If aqueous at  is 14.5

mm Hg, calculate the percentage of nitrogen in the given organic

compound.

Watch Video Solution

18.8cm3

N2 17∘C 17∘C

10. 0.303 g of an organic compound was analysed for nitrogen by

Kjeldahl's method. The ammonia evolved was absorbed in 50 ml of 0.1 N

https://dl.doubtnut.com/l/_3wYceEqKT3tK
https://dl.doubtnut.com/l/_sJjU9nhxhoT4
https://dl.doubtnut.com/l/_sxDkKUBgW8Px
https://dl.doubtnut.com/l/_h9R5AgzjKW7X


. The excess acid required 25 ml of 0.1 N NaOH for neutralisation.

Calculate the percentage of nitrogen in the compound.

Watch Video Solution

H2SO4

11. 0.25g of an organic compound containing carbon hydrogen and

oxygen only were analysed by the combustion method.The increase in the

weights of the U tube and the potash bulbs at the end of the operation

were found to be 0.15g and 0.1837g respectively. Determine the

percentage composition of the compound.

Watch Video Solution

12. 0.246 g of an organic substance when heated with excess of fuming

nitric acid and silver nitrate gave 0.2584 g of silver bromide. Calculate the

percentage of bromine in the compound.

Watch Video Solution

https://dl.doubtnut.com/l/_h9R5AgzjKW7X
https://dl.doubtnut.com/l/_jUsZjf2d7WdI
https://dl.doubtnut.com/l/_kzcgqieWzMOY
https://dl.doubtnut.com/l/_gq5kElrznyBM


13. In a Carius determination, 0.234 g of an organic substance gave 0.334

g of barium sulphate. Calculate the percentage of sulphur in the given

compound

Watch Video Solution

14. 1.5 g of an organic compound in a quantitative determination of

phosphorus gave 2.5090 g of . Calculate the percentage of

phosphorus in the compound.

Watch Video Solution

Mg2P2O7

15. 0.1092 g of a dibasic acid is exactly neutralized by  of 0.1N NaOH.

Calculate the molecular mass of the acid.

Watch Video Solution

21cm3

https://dl.doubtnut.com/l/_gq5kElrznyBM
https://dl.doubtnut.com/l/_cSnp45VgFG2k
https://dl.doubtnut.com/l/_KCKxFKegTELu


16. 1.26 g of a dibasic acid were dissolved in water and the solution made

up to 200 mL. 20 mL of this solution were completely neutralised by 10

mL of  NaOH solution. Calculate the equivalent mass and molecular

mass of the acid.

Watch Video Solution

N

5

17. 0.76 g of a silver salt of a dibasic acid on ignition gave 0.54 g of silver.

Calculate the molecular mass of the acid.

Watch Video Solution

18. 0.400 g of chloroplatinate salt of a monoacid base on ignition gave

0.125 g of platinum. Find the molecular mass of the base.

Watch Video Solution

https://dl.doubtnut.com/l/_JRjvbvDCOmAv
https://dl.doubtnut.com/l/_WjzPRwbHF5gL
https://dl.doubtnut.com/l/_hvFcEpv0V228


19. 0.2 g of a monobasic acid gave 0.5 g of  and 0.089 g of . 0.122

g of the same acid requires 10 mL of 0.1 N NaOH for complete

neutralisation. Determine the molecular formula of the compound.

Watch Video Solution

CO2 H2O

20. A sample of 0.50 g of an organic compound was treated according to

Kjeldahl's method. The ammonia evolved was absorbed in 50 mL of 0.5 M

. The residual acid required 60 mL of 0.5 M solution of NaOH for

neutralisation. What would be the percentage composition of nitrogen in

the compound?

Watch Video Solution

H2SO4

21. A hydrocarbon contains  of carbon per gram of hydrogen.  of

vapour of the hydrocarbon at  and 1 atm pressure weighs .

Find the molecular formula of the hydrocarbon.

Watch Video Solution

10.5g 1L

127∘C 2.8g

https://dl.doubtnut.com/l/_NbH0kjKuLf6I
https://dl.doubtnut.com/l/_ZEHgFPei45Jd
https://dl.doubtnut.com/l/_w3U9fHtwtcQr


Watch Video Solution

22. An organic liquid on analysis yielded the following results: 

(i) Elements present: and S 


(ii) On combustion, C and H were found to be 41.37% and 5.75%

respectively. 

(iii) On Kjeldahlising, the ammonia obtained from 1.01 g of the substance

was neutralised by 11.6 mL of N-HCI.

(iv) In the Carius estimation of sulphur, 0.2066 g of the substance

resulted in the precipitation of 0.5544 g of  


(v) 0.1015 g of the liquid, when vaporised displaced 27.96 mL of dry air

measured at C and 750 mm pressure. 

Find the molecular formula of the liquid.

Watch Video Solution

C, H, N

BaSO4

15∘

23. An acid of molecular mass 104 contains 34.6% carbon and 3.85%

hydrogen. 3.812 mg of the acid required 7.33 cm of 0.01 N NaOH for

neutralisation. Suggest a structure for the acid.

https://dl.doubtnut.com/l/_w3U9fHtwtcQr
https://dl.doubtnut.com/l/_Y5kQ5U85JVag
https://dl.doubtnut.com/l/_GaAK7V3QlujB


Watch Video Solution

24. An organic compound containing carbon hydrogen and oxygen

contains 52 .2 % carbon and 13.04 % hydrogen .Vapour density of the

compound is 23 .Its molecular formula will be

Watch Video Solution

25. The alkyl halide (A) reacts with alcoholic KOH and gives an

alkene (B) which reacts with bromine to give a dibromide (C). (C) is

transformed with sodamide into a gas (D) which forms a precipitate when

passed through ammoniacal silver nitrate solution. Give the structural

formulae of the compounds (A), (B), (C) and (D) and explain the reactions

involved.

Watch Video Solution

C4H9Br

https://dl.doubtnut.com/l/_GaAK7V3QlujB
https://dl.doubtnut.com/l/_PFOblwYNXlw2
https://dl.doubtnut.com/l/_8eJ4pAg4YT2I


26. A hydrocarbon (A) containing 90% carbon and having V.D. 20 reacts

with dil.  in the presence of  to give (B). Compound (B) is

reduced by  to (C) which on heating with  gives (D).

Compound (A) can be converted into (D) directly by hydrogenation in the

presence of deactivated palladium-calcium carbonate catalyst. Identity

the compounds (A) to (D) and explain the reactions involved.

Watch Video Solution

H2SO4 H2SO4

LiAIH4 H2SO4

27. Write the structural formula of the compounds having the following

IUPAC names: 

Butane-2, 3-dione

Watch Video Solution

28. What type of salt is Ammonium Chloride?

Watch Video Solution

https://dl.doubtnut.com/l/_MxZz23HrTyR9
https://dl.doubtnut.com/l/_vyfYH8zcWvB4
https://dl.doubtnut.com/l/_h2Jd0Dz0zoS1


29. An organic compound (A) having molecular formula 

reduces Fehling's solution and on oxidation gives a monocarboxylic acid

(B) with molecular formula . Upon distillation with sodalime,

(B) gives a sweet smelling liquid (C) containing 89.12% chlorine. (C) can

also be obtained by heating (A) with alkali. Identity (A), (B) and (C) and

explain the reactions involved.

Watch Video Solution

C2HCl3O

C2HCl3O2

30. Classify the following as Z or E isomers. 

Watch Video Solution

https://dl.doubtnut.com/l/_pYJZXiERj8Cs
https://dl.doubtnut.com/l/_xIbYkMY4LztG
https://dl.doubtnut.com/l/_rOiBaphqAMnw


31. Classify the following as Z or E isomers. 

Watch Video Solution

32. Classify the following as Zor E isomers. 

Watch Video Solution

https://dl.doubtnut.com/l/_rOiBaphqAMnw
https://dl.doubtnut.com/l/_6wuDbBaKqguo
https://dl.doubtnut.com/l/_t6EPHT6Gcca9


Review Exercises

33. Classify the following as Zor E isomers. 

Watch Video Solution

1. What is stone leprosy and how is it caused ?

Watch Video Solution

2. Why does carbon have a greater tendency of catenation than silicon

although they belong to the same group of the periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_t6EPHT6Gcca9
https://dl.doubtnut.com/l/_dLuWEQ62XBCg
https://dl.doubtnut.com/l/_kfdhFQwxsBzh


3. What do you understand by the terms catenation and isomerism?

Watch Video Solution

4. Write the various types of formulae of the following compounds :

Butane, Isobutane, Ethyl alcohol, Methylamine.

Watch Video Solution

5. Find the types of all the carbon atoms present in the following

compound. 

Watch Video Solution

CH3 − CH2 −

CH3

∣

C
∣

CH3

− CH2 − CH3

https://dl.doubtnut.com/l/_kfdhFQwxsBzh
https://dl.doubtnut.com/l/_0Z9R1Xmot2qB
https://dl.doubtnut.com/l/_PHSCMP9wJvkd
https://dl.doubtnut.com/l/_ncOwSavr5JVG


6. Why does propane give two alkyl groups whereas ethane only one?

Watch Video Solution

7. Write the first five members of alkane series.

Watch Video Solution

8. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH = CH

CH3

∣

C H − CH3

9. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

HC ≡ C −

CH3

∣

C
∣

C2H5

− CH2 − CH = CH2

https://dl.doubtnut.com/l/_4O0KEe6ONpcQ
https://dl.doubtnut.com/l/_eM0wCwiVwqHk
https://dl.doubtnut.com/l/_s6hP9gCLQ1It
https://dl.doubtnut.com/l/_jjNDrvL71fkO


10. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

CH3

∣

C
∣

C2H5

− CH = CH − CH = CH −

CH3

∣

C
∣

CH3

− CH3

11. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_jjNDrvL71fkO
https://dl.doubtnut.com/l/_sWxdtVYHekdz
https://dl.doubtnut.com/l/_9JyF88Utfuro


12. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

13. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

C2H5

∣

C H − CH = CH − CH
∣

CH
∣ ∣

CH2

− CH2CH3

https://dl.doubtnut.com/l/_DWoZlg58Q1im
https://dl.doubtnut.com/l/_nvs5QF61cRc7


14. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

(CH3)2C = CH − CH2 − CH = C(CH3)2

15. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

C2H5

∣

CH − C ≡ C − CH2 − C ≡ C −

C2H5

∣

C H − CH3

https://dl.doubtnut.com/l/_aJhG2Wgtdp2l
https://dl.doubtnut.com/l/_WrVyg9tjHWW5


16. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

17. Give the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

CH2

∣ ∣

C − CH = CH −

CH2

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_2wr8LaRz5Btr
https://dl.doubtnut.com/l/_8Wv4H3YcKtxY
https://dl.doubtnut.com/l/_07EfBz47rFxD


18. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH =

CH3

∣

C − CH2OH

19. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

CH2COOH

∣

C
∣

CH2COOH

− CH3

20. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − CH2OH

https://dl.doubtnut.com/l/_07EfBz47rFxD
https://dl.doubtnut.com/l/_iJMJbUdhh3H8
https://dl.doubtnut.com/l/_IkgtSroXpYVp


21. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

22. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

Cl

∣

CH − CH2 − CH = CH2

https://dl.doubtnut.com/l/_UMSYaEkaDpep
https://dl.doubtnut.com/l/_wjX6XOzjzXLE


23. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

NO2

∣

C H −

Cl

∣

C
∣

Δ

−

CH3

∣

CH − CH2CHO

24. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH2 − CH2 −

O

∣ ∣

C − OCH2CH3

25. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

CH3

∣

C
∣

C2H5

−

O

∣ ∣

C − CH2 − COOH

https://dl.doubtnut.com/l/_R8S1KO9DLFys
https://dl.doubtnut.com/l/_mahyEhXu2DBp
https://dl.doubtnut.com/l/_8Q0P5Ylr1RMe


26. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − C ≡ C − CH2 −

O

∣ ∣

C − NH2

27. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

SH

∣

CH − CH2 −

CH3

∣

C
∣

CH2CH3

−

O

∣ ∣

C − OH

28. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

Cl

∣

CH − CH2 − O − CH2CH3

https://dl.doubtnut.com/l/_wJIw69AyLisw
https://dl.doubtnut.com/l/_yvwiXBFTh4Ng
https://dl.doubtnut.com/l/_4DxXu3Qpt5bP


29. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

O−CH2CH3

∣

C H − CH = CH − CH2CHO

30. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

31. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CN

∣

C H2 −

CH3

CH3

∣

C H −

Cl

∣

CH − CH2CN

https://dl.doubtnut.com/l/_hej64SfHdfzP
https://dl.doubtnut.com/l/_RRvUEApYh3vQ
https://dl.doubtnut.com/l/_DFYhZeiY0wqA


32. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

CH3

∣

C
∣

C2H5

− CH2 −

C2H5

∣

C H − NH2

33. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

H −

O

∣ ∣

C −

O

∣ ∣

C − H

34. Write the systematic IUPAC names of the following compounds : 

https://dl.doubtnut.com/l/_gEVz0UDoxQbw
https://dl.doubtnut.com/l/_E3QXpCEDhUca
https://dl.doubtnut.com/l/_hC5kldZRty4H


Watch Video Solution

35. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_hC5kldZRty4H
https://dl.doubtnut.com/l/_TRu6ldzCIDhl


36. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_zJ5gok6pEp8B


37. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_o1nETZQHDTn6


38. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_fhIDUZOVB8eB


39. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_KB2NeWVMd5Jl


40. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_jWzKleJ0XSSj


41. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_qycBA0GIqDYF


42. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

43. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

HOOC − CH = CH − COOH

https://dl.doubtnut.com/l/_egDaGzpeoatF
https://dl.doubtnut.com/l/_0GoC15q7GudS


44. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

Cl − CH2 −

CH2Cl

∣

C H − CH2 − CH2Cl

45. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

C6H5 − CH = CH − COOH

46. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH2
∣

CN

−

OCH3

∣

C H − CH2 −

O

∣ ∣

C − OCH2CH3

https://dl.doubtnut.com/l/_ZMjKsgWtK7Ss
https://dl.doubtnut.com/l/_fshnI4DYwxl6
https://dl.doubtnut.com/l/_FHmwzLsJCBdJ


47. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − OC2H5

48. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH2 −

CH2 −C≡N

∣

CH − CH2 − C ≡ N

49. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH
∣

CONH2

− COOH

https://dl.doubtnut.com/l/_RDsXuCtaB7az
https://dl.doubtnut.com/l/_KLCUf33CpZFu
https://dl.doubtnut.com/l/_eHWdEBN33A3n


50. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

51. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_9xKbdqYDSCnX
https://dl.doubtnut.com/l/_UPTlglnq6Dzq


52. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

CH3 − C
∣

OCH3

H −

O

∣ ∣

C − C
∣

CH3

H − O − CH2CH3

53. Derive the structures of the compounds having the following IUPAC

names. 

5-methylhept-3-enal

Watch Video Solution

54. Derive the structures of the compounds having the following IUPAC

names. 

3-methyl-5-(1,2-dimethylpropylhept-6-en-1-oic acid

Watch Video Solution

https://dl.doubtnut.com/l/_QnHbPzRZa0M8
https://dl.doubtnut.com/l/_s2BEw6nXUyZx
https://dl.doubtnut.com/l/_dDv5WQyQ7wkQ
https://dl.doubtnut.com/l/_RllA18lfAh6X


55. Derive the structures of the compounds having the following IUPAC

names. 

4-oxopentan-1-al

Watch Video Solution

56. Derive the structures of the compounds having the following IUPAC

names. 

2-amino-3-hydroxy-4-oxopentan-1-oic acid

Watch Video Solution

57. Derive the structures of the compounds having the following IUPAC

names. 

2-ethyl-2-methylbutan-1-ol

Watch Video Solution

https://dl.doubtnut.com/l/_RllA18lfAh6X
https://dl.doubtnut.com/l/_qUW6Af8ifbtt
https://dl.doubtnut.com/l/_GfY0Cv6OjdFj


58. Derive the structures of the compounds having the following IUPAC

names. 

Prop-2-ene-1-nitrile

Watch Video Solution

59. Derive the structures of the compounds having the following IUPAC

names. 

2, 3-dimethylcyclopent-1-ene

Watch Video Solution

60. Derive the structures of the compounds having the following IUPAC

names. 

5, 6-dimethylcyclohex-2-en-1-one

Watch Video Solution

https://dl.doubtnut.com/l/_hHKDNYAro7FZ
https://dl.doubtnut.com/l/_C1sSTRlKVwqm
https://dl.doubtnut.com/l/_aY6Uh2hx4Kpp
https://dl.doubtnut.com/l/_RpzE7nS11iGa


61. Derive the structures of the compounds having the following IUPAC

names. 

4-methylpent-3-en-2-one

Watch Video Solution

62. Derive the structures of the compounds having the following IUPAC

names. 

2, 3-dimethylcyclopentan-1-ol

Watch Video Solution

https://dl.doubtnut.com/l/_RpzE7nS11iGa
https://dl.doubtnut.com/l/_iyS23ZkYjFJT


63. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_1ghLkZ2n1IcM


64. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_mADc3MA3HxjC


65. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_8zp25LiHXzSQ


66. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_eMcbW9nNk8rl


67. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_DoApLtuOrscL


68. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_8maqDF1ZkZRs


69. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_rCcykEA0p7C9


70. Write the IUPAC names of the following compounds:

Watch Video Solution

71. Write the IUPAC names of the following compounds:

https://dl.doubtnut.com/l/_MwR9GPb3Xaba
https://dl.doubtnut.com/l/_05WbDWx2fEHv


Watch Video Solution

https://dl.doubtnut.com/l/_05WbDWx2fEHv


72. Write the IUPAC names of the following compounds:

https://dl.doubtnut.com/l/_r14WHK7NRuCw


Watch Video Solution

73. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_r14WHK7NRuCw
https://dl.doubtnut.com/l/_cJ6dsHWdLQav


74. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_43DSGRfRKCEe


75. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_yLIsZbKLX4Vn


76. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_6fLjFkvkDWoe


77. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_DOa6mJNYM8cX


78. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_fG1vWgGkMGoY


79. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_eSv2aqSzOJE5


80. Write the IUPAC names of the following compounds:

Watch Video Solution

https://dl.doubtnut.com/l/_pEKkLaLrTzyn
https://dl.doubtnut.com/l/_QC2zaO463bKf


81. Write the IUPAC names of the following compounds:

Watch Video Solution

82. Write the IUPAC names of the following compounds:

https://dl.doubtnut.com/l/_QC2zaO463bKf
https://dl.doubtnut.com/l/_9J5QFKk83mX8


Watch Video Solution

83. Write the structures of the compounds having the following names:

Ethynylbenzene

Watch Video Solution

84. Write the structures of the compounds having the following names:

3-phenyl-1-bromopropane

Watch Video Solution

85. Write the structures of the compounds having the following names:

1-bromo-2-phenylethene

Watch Video Solution

https://dl.doubtnut.com/l/_9J5QFKk83mX8
https://dl.doubtnut.com/l/_jNPRRwcbv5oK
https://dl.doubtnut.com/l/_2oygfnBkiT6V
https://dl.doubtnut.com/l/_8U5Ui8HPkjk7


86. Write the structures of the compounds having the following names:

2-methylbenzenamine

Watch Video Solution

87. Write the structures of the compounds having the following names:

1, 3, 5-trihydroxybenzene

Watch Video Solution

88. Write the structures of the compounds having the following names:

3-phenylpropanal

Watch Video Solution

89. Write the structures of the compounds having the following names:

4-ethyl-2-fluoro-1-nitrobenzene

https://dl.doubtnut.com/l/_2CIGEHVoXSR4
https://dl.doubtnut.com/l/_EmrhoxTkBf1f
https://dl.doubtnut.com/l/_HW4y4w2JMdbo
https://dl.doubtnut.com/l/_azyQmGwzHZ2g


Watch Video Solution

90. Write the structures of the compounds having the following names:

Methylbenzoate

Watch Video Solution

91. Write the structures of the compounds having the following names:

1-phenylethanone

Watch Video Solution

92. Write the structures of the compounds having the following names:

p-tolylcarbylamine.

Watch Video Solution

https://dl.doubtnut.com/l/_azyQmGwzHZ2g
https://dl.doubtnut.com/l/_yK7G5Uyfn2MX
https://dl.doubtnut.com/l/_J4yNVuadeWia
https://dl.doubtnut.com/l/_s9qHe2oXZXgn


93. What is isomerism? Give a precise definition and explain with

examples.

Watch Video Solution

94. What type of isomerism is shown by the following pairs of compounds

? (i) Butan-1-ol and Butan-2-ol (ii) But-1-yne and Buta-1, 3-diene (iii) 1-

aminobutane and 1-amino-2-methylpropane.

Watch Video Solution

95. What is the main difference between position isomerism and

functional isomerism? Explain with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_2Ng4OHHRQUSX
https://dl.doubtnut.com/l/_CUwHLQOkztQp
https://dl.doubtnut.com/l/_HpmUsxKhQl6Z


96. Write all the possible isomers which can be obtained from the

molecular formula .

Watch Video Solution

C4H10O

97. What is tautomerism ? Give two examples.

Watch Video Solution

98. What is the difference between tautomerism and resonance ? Explain

with an example.

Watch Video Solution

99. Write the keto and enolic forms of acetone.

Watch Video Solution

https://dl.doubtnut.com/l/_7V07tCNXEykT
https://dl.doubtnut.com/l/_peg8dOyFjqcy
https://dl.doubtnut.com/l/_puv6qrrEhsXl
https://dl.doubtnut.com/l/_WgTHUZUtdE0v
https://dl.doubtnut.com/l/_2HrXTKWtRH6r


100. Write all possible isomers of pentane and hexane.

Watch Video Solution

101. Define metamerism and give an example.

Watch Video Solution

102. What is ring-chain isomerism ? Give an example.

Watch Video Solution

103. Define stereo isomerism. Why does it arise ?

Watch Video Solution

https://dl.doubtnut.com/l/_2HrXTKWtRH6r
https://dl.doubtnut.com/l/_MVzHAR4d4Ibn
https://dl.doubtnut.com/l/_ZrjX2T0N6UYa
https://dl.doubtnut.com/l/_xhmgrVq6k2Ht


104. What is geometrical isomerism and what type of compounds do

exhibit it?

Watch Video Solution

105. Can a compound of the type aaC = Cab show geometrical isomerism ?

If not, explain why?

Watch Video Solution

106. Write the structures of geometrical isomers of the following

compounds : (1) CHCOOH = CHCOOH (ii)  (iii) 

.

Watch Video Solution

C6H5 − CH = CHCOOH

CH2CH = CHCH3

https://dl.doubtnut.com/l/_ISIv4ZxRWsyt
https://dl.doubtnut.com/l/_cBOAH7SJxVfg
https://dl.doubtnut.com/l/_sqikDOG07uMw


107. Explain the cause of geometrical isomerism and state the properties

of geometrical isomers.

Watch Video Solution

108. How many n-octene can show geometrical isomerism?

Watch Video Solution

109. What is optical activity ?

Watch Video Solution

110. How is the optical rotation of an optically active compound measured

and how is it expressed ?

Watch Video Solution

https://dl.doubtnut.com/l/_jZhbq82GrQyZ
https://dl.doubtnut.com/l/_OaPU7eQjWM4h
https://dl.doubtnut.com/l/_NuOItW0o251B
https://dl.doubtnut.com/l/_2petDbChLT5j
https://dl.doubtnut.com/l/_hQSSFdRdS5ks


111. Define chirality. How does it give rise to the phenomenon of optical

activity?

Watch Video Solution

112. When is a molecule said to be dissymmetric ? Give a brief account of

the elements of symmetry.

Watch Video Solution

113. Define optical isomerism and give a brief account of optical isomers.

Watch Video Solution

114. (i) What are disinfectants ? Given an example. 

(ii) Given two example of macro-molecules that are chosen as drug

https://dl.doubtnut.com/l/_hQSSFdRdS5ks
https://dl.doubtnut.com/l/_uNl4wMnajQnA
https://dl.doubtnut.com/l/_YE0zYhPhqhwo
https://dl.doubtnut.com/l/_57CNNOXXcinz


targets. 

(iii) What are anionic detergents ? Give an example .

Watch Video Solution

115. Discuss the optical isomerism of lactic acid.

Watch Video Solution

116. Which of the following molecules would you expect to be optically

active ? 

 


 


(iii) 2-methylbutane 

 


(v) Butan-2-ol 

(vi) 2-hydroxypropanoic acid.

Watch Video Solution

(i)CCl2

(ii)CHClBrF

(iv)CH3CH2COOH

https://dl.doubtnut.com/l/_57CNNOXXcinz
https://dl.doubtnut.com/l/_NtOlf2PVxnbR
https://dl.doubtnut.com/l/_WZuLdZ6inTs0


117. What are enantiomers ? Describe their important properties.

Watch Video Solution

118. What is a fractionating column and how does it work?

Watch Video Solution

119. Why does a mixture of aniline and water boil at a temperature much

below the individual boiling points of the two ?

Watch Video Solution

120. What technique would you use to separate the following mixtures ? 

A solution of liquid A (b.p. 380 K) and liquid B (b.p.280 K)

Watch Video Solution

https://dl.doubtnut.com/l/_WZuLdZ6inTs0
https://dl.doubtnut.com/l/_8Q4mmObbMFMD
https://dl.doubtnut.com/l/_hezhundByycC
https://dl.doubtnut.com/l/_XOUdJklNZ30Y
https://dl.doubtnut.com/l/_OnKNU2m8kZqc


121. What technique would you use to separate the following mixtures ? 

A solution of liquid X (b.p. 340 K) and liquid Y (b.p.332 K)

Watch Video Solution

122. What technique would you use to separate the following mixtures ? 

A mixture of sugar and common salt

Watch Video Solution

123. What technique would you use to separate the following mixtures ? 

A mixture of camphor and common salt

Watch Video Solution

124. What technique would you use to separate the following mixtures ? 

A mixture of benzoic acid and naphthalene.

https://dl.doubtnut.com/l/_JDjFnbgxoOV3
https://dl.doubtnut.com/l/_hrKrUIEAQRyi
https://dl.doubtnut.com/l/_6rGKCOuCYqcO
https://dl.doubtnut.com/l/_K4KObGnjcCzX


Watch Video Solution

125. How will you purify an impure sample of (i) aniline (ii) benzoic acid

(iii) nitrobenzene?

Watch Video Solution

126. If a liquid compound decomposes at its boiling point, which method

(s) can you choose for its purification. It is known that the compound is

stable at low pressure, steam volatile and insoluble in water

Watch Video Solution

127. What is the basis of separation in chromatography ?

Watch Video Solution

https://dl.doubtnut.com/l/_K4KObGnjcCzX
https://dl.doubtnut.com/l/_Tcqag8Q9vVoo
https://dl.doubtnut.com/l/_RTcoh2UjEpHw
https://dl.doubtnut.com/l/_uAd3oqBTMnSg


128. Nitrobenzene  can be distilled with steam under one

atmosphere pressure at a temperature of 372.2 K. Calculate the amount

of steam necessary to distil 0.1 kg of nitrobenzene. The vapour pressure

of water at 372.2 K is 739 mm.

Watch Video Solution

(C6H5NO2)

129. In the steam distillation of an organic oil (immiscible with water), the

mixture of oil and water boils at 372 K under 1 atm pressure. The vapour

pressure of water is 595 mm of Hg at this temperature. The collected

condensate contains 50% by weight of the oil. Calculate the molecular

weight of the oil.

Watch Video Solution

130. Why is it necessary to fuse the compound with sodium in the

detection of N, S or halogens by Lassaigne's test?

Watch Video Solution

https://dl.doubtnut.com/l/_qAU4PQcU8Cnr
https://dl.doubtnut.com/l/_GyrtabvZOGvc
https://dl.doubtnut.com/l/_CZoc6nAcmV5e


Watch Video Solution

131. On adding  to the Lassaigne solution of a compound, which

colour will be obtained if the compound contains 

(i) CI (ii) Br (iii) (iv) N (v) S?

Watch Video Solution

AgNO3

132. What precaution would you take to detect the presence of a halogen

in an organic compound by Lassaigne's test if the compound contains

nitrogen or sulphur also ?

Watch Video Solution

133. Why is Beilstein's test not regarded as a reliable test for the

detection of a halogen in an organic compound?

Watch Video Solution

https://dl.doubtnut.com/l/_CZoc6nAcmV5e
https://dl.doubtnut.com/l/_Zgc8DJ2GTJpY
https://dl.doubtnut.com/l/_FYczieVkjFYT
https://dl.doubtnut.com/l/_eMJMicLGk261
https://dl.doubtnut.com/l/_FBfVXFKPk4QK


134. 0.2346 g of an organic compound containing carbon, hydrogen and

oxygen only were analysed by the combustion method. The increase in

the weights of the U-tube and the potash bulbs at the end of the

operation were found to be 0.2754 g and 0.4488 g respectively. Determine

the percentage composition of the compound.

Watch Video Solution

135. 0.1986 g of an organic substance when analysed by Duma's method

give 32.96 ml of moist nitrogen measured at 14°C and 755 mm pressure.

Calculate the percentage of nitrogen in the substance. (Aqueous tension

at C = 12 mm)

Watch Video Solution

14∘

136. In Kjeldahl's method, the gas evolved from 1.325 g sample of a

fertiliser is passed into 50 ml of 0.2030 N .25.32 ml of 0.1980 NH2SO4

https://dl.doubtnut.com/l/_FBfVXFKPk4QK
https://dl.doubtnut.com/l/_J9MpQwKDAhtG
https://dl.doubtnut.com/l/_PhJ8S0MQAOXY


NaOH are required for the titration of unused acid. Calculate the

percentage of nitrogen in the fertiliser.

Watch Video Solution

137. 0.3780 g of an organic chloro compound gave 0.5740 g of silver

chloride in Carius estimation. Calculate the percentage of chlorine

present in the compound.

Watch Video Solution

138. 2.18g of an organic compound containing sulphur produces 1.02 g of

. The percentage of sulphur in the compound is

Watch Video Solution

BaSO4

139. 0.14 g of a substance on evaporation by Victor Meyer's method,

displaced 36 mL of air over water at C and 750 mm Hg. Calculate the20∘

https://dl.doubtnut.com/l/_PhJ8S0MQAOXY
https://dl.doubtnut.com/l/_i92NpKFgfJtk
https://dl.doubtnut.com/l/_eA8Emw9pSRVW
https://dl.doubtnut.com/l/_kD2LqtlL2sTV


molecular mass of the substance. (Aqueous tension at  = 17.4 mm)

Watch Video Solution

20∘C

140. An organic compound containing bromine gave the following

results: (i) 0.125 g of the compound on complete combustion gave 0.1 g of

 and 0.051 g of water. (ii) 0.185 g of the compound gave 0.32 g of

AgBr. Sony Calculate the empirical formula of the compound.

Watch Video Solution

CO2

141. An organic compound (A) contatns 20% C, 46.66% N and 6.66% H. It

gave NH3 gas on heating with NaOH. The organic compound (A) could be

Watch Video Solution

142. A monobasic acid has 68.9% C and 4.8% H. 0.122 g of acid require 10

mL of N/10 caustic soda solution for neutralisation. What is the molecular

https://dl.doubtnut.com/l/_kD2LqtlL2sTV
https://dl.doubtnut.com/l/_dk8eCqRTyLE9
https://dl.doubtnut.com/l/_PyTNqUU9vFD0
https://dl.doubtnut.com/l/_uWXzgvTKyNC7


formula of the compound?

Watch Video Solution

143. An organic compound contains 69.4% carbon and 5.8% hydrogen. A

sample of 0.303 g of this compound was analysed for nitrogen by

Kjeldahl's method. The ammonia evolved was absorbed in 50 mL of 0.05 M

. The excess acid required 25 mL of 0.1 M NaOH for neutralisation.

Determine the molecular formula of the compound, if its molecular mass

is 121.

Watch Video Solution

H2SO4

144. A volatile organic compound contains 10% C, 0.84%H and 89.12% Cl.

In Victor Meyer's method, 0.6 g of the substance displaced 112 mL of air at

S.T.P. Find out the molecular formula of the compound.

Watch Video Solution

https://dl.doubtnut.com/l/_uWXzgvTKyNC7
https://dl.doubtnut.com/l/_YIaOIbQ4pkJH
https://dl.doubtnut.com/l/_78a1UiwBIpXN
https://dl.doubtnut.com/l/_2brT4QcYsjgp


145. 0.45 g of a dibasic acid on combustion gave 0.44 g of  and 0.09 g

. The molecular mass of the acid is 90. Calculate the molecular

formula. Suggest a structure for the acid.

Watch Video Solution

CO2

H2O

146. A mono acid base gave the following results : 

(1) On combustion 0.20 g of the base gave 0.58 g of  and 0.15 g of

water. 

(ii) In Duma's method, 0.3 g of it gave 32.7 mL nitrogen at 288 K and 760

mm pressure.

(iii) 0.54 g of it required 12.50 mL of 0.4 N HCl for complete neutralisation.

Determine the molecular formula of the base.

Watch Video Solution

CO2

147. 0.76 g of a silver salt of a dibasic acid on ignition gave 0.54 g of silver.

Calculate the molecular mass of the acid.

https://dl.doubtnut.com/l/_2brT4QcYsjgp
https://dl.doubtnut.com/l/_WZL0X12KguPZ
https://dl.doubtnut.com/l/_wuYMJG3pBJNG


Watch Video Solution

148. 0.984 g of a chloroplatinate salt of a diacid base on ignition gave 0.39

g of platinum. Find the molecular mass of the base.

Watch Video Solution

149. 0.20 g of an anhydrous dibasic acid gave on combustion 0.040 g

water and 0.195 g .0.5 g of its silver salt on ignition gave 0.355 g of

silver. What is the molecular formula of the acid ?

Watch Video Solution

CO2

150. The silver salt of a monocarboxylic acid contains 55.1% silver. Find the

molecular mass of the acid.

Watch Video Solution

https://dl.doubtnut.com/l/_wuYMJG3pBJNG
https://dl.doubtnut.com/l/_HLVWgCryh8GW
https://dl.doubtnut.com/l/_xFoBGfn4HyGn
https://dl.doubtnut.com/l/_h8OW85bXJSKF
https://dl.doubtnut.com/l/_ieIngn93ecWn


151. 0.984 g of a chloroplatinate salt of a diacid base on ignition gave 0.39

g of platinum. Find the molecular mass of the base.

Watch Video Solution

152. An organic compound A containing C, H and O has a pleasant odour

with boiling point of  . On boiling A with concentrated  , a

colourless gas is produced which decolourless bromine water and

alkaline  . The organic liquid A is

Watch Video Solution

78∘C H2SO4

KMnO4

153. An organic compound (A) having C = 16.27%,H = 0.677%, Cl = 72.203%

reduces Fehling solution and on oxidation gives an acid (B) having C =

14.679%, H = 0.612% and Cl = 65.137%. (B) on distillation with sodalime

gives a sweet smelling liquid (C) which contains 89.12% chlorine. (C) can

also be obtained by heating (A) with alkali. (A) can also be obtained by the

https://dl.doubtnut.com/l/_ieIngn93ecWn
https://dl.doubtnut.com/l/_rSoFhzvvfYdS
https://dl.doubtnut.com/l/_Xrn697Zcsw7R


action of Cl2 on . Identify (A), (B) and (C) and explain the

reactions.

Watch Video Solution

C2H5OH

154. A primary alcohol (A) with V.D. = 29 contains C = 62.1%, H = 10.3%. It

reacts with bromine to form a derivative (B) which contains C = 16.5%, H =

2.7% and Br = 73.4%. Identify (A) and (B).

Watch Video Solution

155. A compound (X) having molecular formula  gave 2-

methylpentane on treatment with  in the presence of Pd. When

treated with dilute  containing , it yielded another

compound having molecular formula . Compound X did not react

with ammonical CuCl and metallic sodium. Identity X.

Watch Video Solution

C6H10

H2

H2SO4 HgSO4

C6H12O

https://dl.doubtnut.com/l/_Xrn697Zcsw7R
https://dl.doubtnut.com/l/_71cFVtNDHbYy
https://dl.doubtnut.com/l/_ULYWo5rpOjNg
https://dl.doubtnut.com/l/_bMX95SYOmKj2


156. A dihaloalkane (A),  on reaction with alc. KOH gives (B), 

 (B) does not form white precipitate with ammonical silver nitrate

and on hydrogenation absorbs two moles of hydrogen to give n-butane.

Compound (B) reacts with two molecules of ozone to form a diozonide

which on reductive hydrolysis gives two moles of formaldehyde and one

mole of glyoxal. Identify (A) and (B) and explain the reactions.

Watch Video Solution

C2H8Cl2

C6H6.

157. Establish the structure of a hydrocarbon  from the following

facts : 

(i) The hydrocarbon yields 2-methyl butane on catalytic reduction. 

(ii) The hydrocarbon adds HBr to form a compound (B) which on reaction

with moist silver oxide produces an alcohol (C). 

(iii) The alcohol (C) on oxidation gives a ketone containing the same

number of carbon atoms.

Watch Video Solution

C5H10

https://dl.doubtnut.com/l/_bMX95SYOmKj2
https://dl.doubtnut.com/l/_pm69dekgGY5u
https://dl.doubtnut.com/l/_d67x350zFH78


158. A hydrocarbon (V.D. = 27) containing C = 88.88% decolourised

 solution and bromine water with evolution of HBr. It gave no

precipitate with either ammoniacal silver nitrate or cuprous chloride

solution. When treated with dil.  in the presence of , it

gave methyl ethyl ketone. What is the hydrocarbon ?

Watch Video Solution

KMnO4

H2SO4 HgSO4

159. An organic compound (A) having V.D. = 30 contains C = 60.0% and H=

13%. On treatment with PCI5 it gave another compound (B) which

contained 45.2% chlorine and on hydration it produced a hydrocarbon (C)

containing 85.7% C and 14.3% hydrogen. On successive treatment with HI

and moist silver oxide, (C) gave a compound (D) which was isomeric with

(A). Identity (A), (B), (C) and (D) and explain the reactions.

View Text Solution

https://dl.doubtnut.com/l/_d67x350zFH78
https://dl.doubtnut.com/l/_hZPabuNbY3fE


160. An organic compound  on hydrogenation gives compound

. Compound E on ozonolysis gives formaldehyde and 2-

ketopropanal. Deduce the structure of compound E.

Watch Video Solution

E(C5H8)

F (C5H12)

161. An aliphatic hydrocarbon (A) of molecular weight 58 yields on

chlorination a monochloroderivative (B) which on treatment with

aqueous alkali gives an alcohol (C). The alcohol shows positive Lucas test

immediately and easily dehydrated to form the compound (D) which on

ozonolysis yields a ketone (E) as one of the products. Dry distillation of

the calcium acetate as well as heating of two molecules of acetic acid

with MnO at 250°C also gives the same ketone (E). Identity compounds (A)

to (E) and explain the reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_FwMMb66hdxJO
https://dl.doubtnut.com/l/_PDa3vtrmM2ta


162. Arrange the following in the order as mentioned :

 - groups in the order of

increasing + l-effect,

Watch Video Solution

(CH3)3C − (CH3)2CH − CH3CH2 − CH3

163. Arrange the following in the order as mentioned :

 groups in the order of decreasing -l-

effect,

Watch Video Solution

−CN, − CI, − OH, − NO2

164. Arrange the following in the order as mentioned :

+ C carbocations in the order of

increasing reactivity,

Watch Video Solution

+

CH3CH3

+

CH2, (CH3)
2
CH+, (CH3)

3

https://dl.doubtnut.com/l/_2Yqo3VONv4U0
https://dl.doubtnut.com/l/_XGbD9iYI8Tay
https://dl.doubtnut.com/l/_5kkmx6Mi70nS
https://dl.doubtnut.com/l/_JF2effHRnBJe


165. Arrange the following in the order as mentioned :

 free radicals in the order of decreasing stability.

Watch Video Solution

1∘ , 2∘ , 3∘

166. What are the main points of difference between inductive and

electromeric effects ?

Watch Video Solution

167. Explain the 

l-effect leads to the development of partial charges while the E-effect to

the full positive and negative charges.

Watch Video Solution

168. Explain the 

Hyperconjugation effect is also termed as 'no bond resonance'.

https://dl.doubtnut.com/l/_JF2effHRnBJe
https://dl.doubtnut.com/l/_JK0QXXzmxZBC
https://dl.doubtnut.com/l/_hU9rDx6gjUrr
https://dl.doubtnut.com/l/_FCEANYw4Tinj


Watch Video Solution

169. Explain the 

 is more reactive than  free radical.

Watch Video Solution

⋅
CH3 CH3CH2

170. Explain the 

The carbanions are very reactive species although their central carbon

atom possesses an octet.

Watch Video Solution

171. Explain the 

 acts as an electrophile.

Watch Video Solution

BF3

https://dl.doubtnut.com/l/_FCEANYw4Tinj
https://dl.doubtnut.com/l/_U4M55iaqgo77
https://dl.doubtnut.com/l/_XS1SfnC0xJU6
https://dl.doubtnut.com/l/_TkbgkW7iebi1
https://dl.doubtnut.com/l/_kbk7uZ8DqiOk


172. Explain the 

 acts as a nucleophile.

Watch Video Solution

CH3NH2

173. Why is in the presence of diethyl peroxide, the addition of HBr to

propene is against Markownikoff's rule?

Watch Video Solution

174. Why is chloroacetic acid is a stronger acid as compared to acetic acid

?

Watch Video Solution

175. Explain the 

 is less stable than .

Watch Video Solution

(CH3)3C
− ¯̄̄CH3

https://dl.doubtnut.com/l/_kbk7uZ8DqiOk
https://dl.doubtnut.com/l/_eUsvk1IvFDmL
https://dl.doubtnut.com/l/_SXmk7aGRKK4a
https://dl.doubtnut.com/l/_MlP63S50MSJo


Very Short Answer Type Questions

Watch Video Solution

176. Explain the 

A singlet carbene has a bent structure.

Watch Video Solution

1. Name the organic compound that was first prepared in the laboratory,

Who did prepare this compound?

Watch Video Solution

2. Define organic chemistry.

Watch Video Solution

https://dl.doubtnut.com/l/_MlP63S50MSJo
https://dl.doubtnut.com/l/_nMerDn1AzXNS
https://dl.doubtnut.com/l/_KWGnA4HBP7WJ
https://dl.doubtnut.com/l/_1vdo9bvYPmuJ


3. What do you understand by isomerism?

Watch Video Solution

4. What are aromatic compounds ? Give at least two examples.

Watch Video Solution

5. Write the structural and graphic formulae of the compounds having

the following molecular formulae. 

Watch Video Solution

C2H6

6. Write the structural and graphic formulae of the compounds having

the following molecular formulae. 

C3H6

https://dl.doubtnut.com/l/_GLB9NqI3Sw5a
https://dl.doubtnut.com/l/_jmYEm4rL7jyM
https://dl.doubtnut.com/l/_MjByfekQARiH
https://dl.doubtnut.com/l/_tz2052g66IKV


Watch Video Solution

7. Write the structural and graphic formulae of the compounds having

the following molecular formulae. 

Watch Video Solution

C3H4

8. Identify primary, secondary, tertiary and quaternary carbon atoms in

the following compound : 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

−

C2H5

∣

C H − CH3

9. Write the graphic formulae of the following alkyl groups : ethyl, n-

propyl, iso-propyl, sec-butyl, t-butyl.

Watch Video Solution

https://dl.doubtnut.com/l/_tz2052g66IKV
https://dl.doubtnut.com/l/_SMMHNR5ddbZO
https://dl.doubtnut.com/l/_g0JmOTOa5k0J
https://dl.doubtnut.com/l/_2MC1uW2dMGXr


10. What suffixes or prefixes are used for the following functional groups

? 

Watch Video Solution

11. Alicyclic compounds are

Watch Video Solution

12. What are the special names used for naming 1,2, 1,3, and 1, 4

disubstituted derivatives of benzene?

Watch Video Solution

https://dl.doubtnut.com/l/_2MC1uW2dMGXr
https://dl.doubtnut.com/l/_JmUEOMEDaWWK
https://dl.doubtnut.com/l/_b0mD3eYPv7UX
https://dl.doubtnut.com/l/_8CfgG9N3mjGQ
https://dl.doubtnut.com/l/_ofo9qmrRuZRO


13. Write the structure and IUPAC names of the following compounds: 

Isobutane

Watch Video Solution

14. Write the structure and IUPAC names of the following compounds: 

Neopentane

Watch Video Solution

15. Write the structure and IUPAC names of the following compounds: 

Succinic acid.

Watch Video Solution

16. Give the IUPAC names of the following compounds: 

CH2 = CH −

CH2CH3

∣

CH − C
∣

Cl

= CH2

https://dl.doubtnut.com/l/_ofo9qmrRuZRO
https://dl.doubtnut.com/l/_KEugAHIRuq26
https://dl.doubtnut.com/l/_tAL4vajoq2jH
https://dl.doubtnut.com/l/_dUnc7fYwuo6o


Watch Video Solution

17. Give the IUPAC names of the following compounds: 

Watch Video Solution

CH2OH

∣

CHOH

∣

CH2OH

18. Give the IUPAC names of the following compounds : 

Watch Video Solution

(CH3)3C − CH = CH2

19. Write the systematic IUPAC names of the following compounds : 

Watch Video Solution

C6H5 − CH = CH − COOH

https://dl.doubtnut.com/l/_dUnc7fYwuo6o
https://dl.doubtnut.com/l/_10gIYhEYc4ZM
https://dl.doubtnut.com/l/_scAYerXyuna4
https://dl.doubtnut.com/l/_MmMftmpUJAGn


20. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

CH3

∣

C H − CH2 − CH2 −

O

∣ ∣

C − CH2Cl

21. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH3 − C
∣

Cl

H − COOH

22. Write the IUPAC names of the following compounds : 

Watch Video Solution

   H2C − COOH

         ∣

HO − C − COOH

         ∣

   H2C − COOH

https://dl.doubtnut.com/l/_oBb1eJdeS323
https://dl.doubtnut.com/l/_W5A4e7A7CbIZ
https://dl.doubtnut.com/l/_jLGiAuXpju2P
https://dl.doubtnut.com/l/_oyOFtgAlfHQe


23. Write the IUPAC names of the following compounds : 

Watch Video Solution

24. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH2 −

CH3

∣

C
∣

CH2CH3

− CH2OH

25. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH2 = CH − C
∣

Br

= CH − CH = CH2

https://dl.doubtnut.com/l/_oyOFtgAlfHQe
https://dl.doubtnut.com/l/_iU1xcMmwzLZM
https://dl.doubtnut.com/l/_lgOUqgrFBJ7k


26. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH2COOH

∣

CH2COOH

27. Select the principal group when the following groups are present in a

molecule. 

Watch Video Solution

−Cl, − OH, − NO2, − CHO

28. Select the principal group when the following groups are present in a

molecule. 

Watch Video Solution

−Br, − NH2, − Cl, − OH

https://dl.doubtnut.com/l/_Z1XTF1pBsSzE
https://dl.doubtnut.com/l/_cJ4OuA315kmB
https://dl.doubtnut.com/l/_rRJBj6d9hZ0e


29. Select the principal group when the following groups are present in a

molecule. 

Watch Video Solution

−OH, > C = O, − COOH

30. Select the principal group when the following groups are present in a

molecule. 

Watch Video Solution

−SH, − I,C ONH2

31. Write the structural formula of the following compounds: 

1-chloropent-1-ene-4-yne

Watch Video Solution

https://dl.doubtnut.com/l/_tPHJcSEqMNKO
https://dl.doubtnut.com/l/_QFl7OI37ADmL
https://dl.doubtnut.com/l/_HmNhLcIC3Xjv


32. Write the structural formula of the following compounds: 

4-ethyl-2, 2, 6-trimethylheptane

Watch Video Solution

33. Write the structural formulae of the following compounds : 

Ethane-1, 2-dial

Watch Video Solution

34. Write the structural formulae of the following compounds : 

5-methylhept-3-ene.

Watch Video Solution

35. Correct the following names : 

2-ol-2, 3-dimethylbutane

https://dl.doubtnut.com/l/_ac129zteaxVe
https://dl.doubtnut.com/l/_AfDmBO8E5pUy
https://dl.doubtnut.com/l/_Sv3VhUZM8GCg
https://dl.doubtnut.com/l/_rjqYH2QmpaIG


Watch Video Solution

36. Correct the following names : 

1-chloro-4-pentyne-1-ene

Watch Video Solution

37. Correct the following names : 

4, 4, 3-trimethyl-1-hexyne

Watch Video Solution

38. Correct the following names : 

3-ethyl-2-chloro-1, 4-pentadiene.

Watch Video Solution

https://dl.doubtnut.com/l/_rjqYH2QmpaIG
https://dl.doubtnut.com/l/_etRS5kXqjfnY
https://dl.doubtnut.com/l/_wcHyFtg8kT9x
https://dl.doubtnut.com/l/_ffU9Gy08C5A9


39. Do structural isomers possess similar chemical properties?

Watch Video Solution

40. What type of isomerism is shown by isopentane and neopentane?

Watch Video Solution

41. What type of isomerism is shown by 1-butene and 2-butene?

Watch Video Solution

42. Write the possible functional isomers having the formula 

Watch Video Solution

C3H6O2

43. What is the functional isomer of ethanol ?

https://dl.doubtnut.com/l/_5fZsoXiCRhkn
https://dl.doubtnut.com/l/_f1Onl5kE98lx
https://dl.doubtnut.com/l/_arwBNYjmzOPb
https://dl.doubtnut.com/l/_nCQLtB4FDONg
https://dl.doubtnut.com/l/_dzP9spdwuNHP


Watch Video Solution

44. Write the metamers having the formula 

Watch Video Solution

C4H11N.

45. How many chain isomers are possible with the formula 

Watch Video Solution

C7H16 ?

46. Give an example of ring-chain isomerism.

Watch Video Solution

47. What type of isomerism is exhibited by the following equilibrium ? 

Watch Video Solution

CH3 −

O

∣ ∣

C − CH3 ⇔ CH3 −

OH

∣

C H = CH2

https://dl.doubtnut.com/l/_dzP9spdwuNHP
https://dl.doubtnut.com/l/_wmJuT6pyoeBn
https://dl.doubtnut.com/l/_WJNXt3nm9hWk
https://dl.doubtnut.com/l/_hJjJ4WYVaCiR
https://dl.doubtnut.com/l/_WJu3KXP0EzHO


Watch Video Solution

48. What type of change is involved in tautomerism ?

Watch Video Solution

49. Is geometrical isomerism shown by alkynes ?

Watch Video Solution

50. Out of cis and trans isomers, which isomer is more stable ?

Watch Video Solution

51. Can a compound of the type axC = Cay show geometrical isomerism ?

Watch Video Solution

https://dl.doubtnut.com/l/_WJu3KXP0EzHO
https://dl.doubtnut.com/l/_QDtMIuFVA6E1
https://dl.doubtnut.com/l/_diS0ht6yRvHl
https://dl.doubtnut.com/l/_nmlvKSWk9Ayt
https://dl.doubtnut.com/l/_3JoXTvkfsuGq
https://dl.doubtnut.com/l/_nG3DG4Up82ky


52. Explain the cause of geometrical isomerism and state the properties

of geometrical isomers.

Watch Video Solution

53. Do geometrical isomers possess similar physical properties?

Watch Video Solution

54. Name the prism passing through which ordinary light changes into

plane polarised light.

Watch Video Solution

55. Name the instrument used to measure the optical activity of a

substance.

Watch Video Solution

https://dl.doubtnut.com/l/_nG3DG4Up82ky
https://dl.doubtnut.com/l/_KWry3CGkDkVV
https://dl.doubtnut.com/l/_aS2Rk1tznGsJ
https://dl.doubtnut.com/l/_p6kF8mPDmlOp


56. Is the letter H chiral in nature ?

Watch Video Solution

57. When is a molecule said to be chiral?

Watch Video Solution

58. What is the necessary and sufficient condition for a molecule to be

optically active ?

Watch Video Solution

59. In which direction does a d-isomer rotate the plane of plane polarised

light?

Watch Video Solution

https://dl.doubtnut.com/l/_e0IbvVROC607
https://dl.doubtnut.com/l/_YeHfSBToB3ku
https://dl.doubtnut.com/l/_qXuODhp51X9p
https://dl.doubtnut.com/l/_yH7RRzIhkPKe
https://dl.doubtnut.com/l/_1t1ebvoOubim


60. What is the effect of a dl-mixture on plane polarised light?

Watch Video Solution

61. Why is the net rotation of meso-tartaric acid zero ?

Watch Video Solution

62. Is 1-hydroxypropanoic acid optically active ?

Watch Video Solution

63. What is soda-lime test for detection of nitrogen in a compound?

Watch Video Solution

64. What do you understand by Lassaigne solution ?

https://dl.doubtnut.com/l/_1t1ebvoOubim
https://dl.doubtnut.com/l/_sEYHPFSR3crT
https://dl.doubtnut.com/l/_XBOmmgbBjVB7
https://dl.doubtnut.com/l/_AaTxIr8Mueqd
https://dl.doubtnut.com/l/_Sb3SIPqBZYy7


Watch Video Solution

65. In the Lassaigne’s test for nitrogen in an organic compound, the

Prussian blue colour is obtained due to the formation of: 

(a)  (b)  (c)  (d) 

Watch Video Solution

Na4[Fe(CN)6] Fe4[Fe(CN)6]3
Fe2[Fe(CN)6]

Fe3[Fe(CN)6]4

66. For testing halogens in an organic compound with  solution,

sodium extract (Lassaigne's test) is acidified with dilute . What will

happen if a student acidifies the extract with dilute  in place of

dilute  ?

Watch Video Solution

AgNO3

HNO3

H2SO4

HNO3

67. During sodium extract preparation for Lassaigne's test both N and S

present in organic compound change to

https://dl.doubtnut.com/l/_Sb3SIPqBZYy7
https://dl.doubtnut.com/l/_5dQVs699nvsM
https://dl.doubtnut.com/l/_sNjuXZDOvMPZ
https://dl.doubtnut.com/l/_QJhs4yfsh4Yz


Watch Video Solution

68. What is chloroform layer test?

Watch Video Solution

69. What is the role of reduced copper gauze in the estimation of

nitrogen by Duma's method ?

Watch Video Solution

70. In a Victor Meyer's determination, 0.32 g of a volatile substance

displaced air which measured 120mL at S.T.P. Calculate the vapour density

and molecular weight of the substance (1 litre of  at S.T.P. weighs 0.09

g).

Watch Video Solution

H2

https://dl.doubtnut.com/l/_QJhs4yfsh4Yz
https://dl.doubtnut.com/l/_CqaCb7oHxdJP
https://dl.doubtnut.com/l/_6S6Zgt2U0gDx
https://dl.doubtnut.com/l/_Csc2t5W7numo
https://dl.doubtnut.com/l/_eXb7fRyNv8S9


71. How is the molecular formula of a compound related to its empirical

formula ?

Watch Video Solution

72. What happens when the silver salt of a carboxylic acid is ignited ?

Watch Video Solution

73. What type of electrons get displaced in 

(i) inductive effect 

(ii) electromeric effect?

Watch Video Solution

74. What type of groups produce + l-effect ?

Watch Video Solution

https://dl.doubtnut.com/l/_eXb7fRyNv8S9
https://dl.doubtnut.com/l/_fC5bKfBG3iYg
https://dl.doubtnut.com/l/_A1cLtMoc0syP
https://dl.doubtnut.com/l/_mFV6oR9eqJFQ


75. Which of the following are permanent effects ? I-effect, E-effect, M-

effect.

Watch Video Solution

76. Amongst  groups, which do exert + M-

effect when present in conjugation with a double bond ?

Watch Video Solution

−OH, − CN, CI, − NO2

77. What type of reaction intermediates are obtained when a covalent

bond undergoes homolytic fission?

Watch Video Solution

78. What is meant by a  carbon atom ?

Watch Video Solution

1∘

https://dl.doubtnut.com/l/_dMUgAKKprWrk
https://dl.doubtnut.com/l/_WWlaIr8gPiyo
https://dl.doubtnut.com/l/_WGlLCveb87d8
https://dl.doubtnut.com/l/_0DuH2NZ3GXW2


79. What is the state of hybridisation of the central carbon in a

carbocation ?

Watch Video Solution

80. What is the state of hybridisation of the central carbon in a carbanion

?

Watch Video Solution

81. Sort out electrophiles and nucleophiles among the following: 

,

Watch Video Solution

CH3

+

CH2, AlCl3, C2H5OH, CN − ,
+

CH3,
+

NO2

82. Write the general rate law for an  reaction.

W h Vid S l i

SN 2

https://dl.doubtnut.com/l/_0DuH2NZ3GXW2
https://dl.doubtnut.com/l/_iRjmAYvEHen1
https://dl.doubtnut.com/l/_3TShpSoDjJtk
https://dl.doubtnut.com/l/_xISGHbioiMYO
https://dl.doubtnut.com/l/_0NJUWs3RT7BN


Watch Video Solution

83. What is the optical nature of the product obtained in an  reaction

if the substrate is optically active ?

Watch Video Solution

SN 1

84. What is the reaction intermediate in a nitration process ?

Watch Video Solution

85. Define elimination reactions.

Watch Video Solution

86. What type of structure is possessed by a triplet carbene?

Watch Video Solution

https://dl.doubtnut.com/l/_0NJUWs3RT7BN
https://dl.doubtnut.com/l/_J2tmLsvGjqaG
https://dl.doubtnut.com/l/_c29AiYSvgLub
https://dl.doubtnut.com/l/_Cu3cLDxIwyWc
https://dl.doubtnut.com/l/_kYTigw8ZNj12


Short Answer Type Questions

87. Name a neutral electrophile and a neutral nucleophile.

Watch Video Solution

1. State reasons for 'Justification of a separate branch' for 'Organic

Chemistry'. 

Watch Video Solution

2. What is catenation ? Why is it most prominent for carbon ?

Watch Video Solution

3. What are isomers ? Write the isomers of butane and pentane.

Watch Video Solution

https://dl.doubtnut.com/l/_32xzwDM6PXj1
https://dl.doubtnut.com/l/_15UviPgnV9v7
https://dl.doubtnut.com/l/_m51RrCeqi6cl
https://dl.doubtnut.com/l/_FnTAs661qVmt


4. What is the main difference between carbocyclic and heterocyclic

compounds ?

Watch Video Solution

5. Name the different types of hydrocarbons. Give two examples each.

Watch Video Solution

6. What are alkyl groups ? Write the structures of all possible alkyl groups

which can be obtained from propane and butane.

Watch Video Solution

7. What do you understand by gas?

Watch Video Solution

https://dl.doubtnut.com/l/_FnTAs661qVmt
https://dl.doubtnut.com/l/_dPyE2OvyNPNJ
https://dl.doubtnut.com/l/_Kxy2aPRnkNqN
https://dl.doubtnut.com/l/_iJok0iFujcfg
https://dl.doubtnut.com/l/_ULlu6DH825Wh


8. In what way does an alkane differ from other hydrocarbons ?

Watch Video Solution

9. What do you understand by a homologous series ? Write its important

characteristics.

Watch Video Solution

10. There is a large number of carbon compounds due to

Watch Video Solution

11. How would you decide whether the two given compounds are

homologues or not?

Watch Video Solution

https://dl.doubtnut.com/l/_ULlu6DH825Wh
https://dl.doubtnut.com/l/_J3Sys79ZFU4t
https://dl.doubtnut.com/l/_SDPSHA1aVOkk
https://dl.doubtnut.com/l/_F82AaqvMCqqN
https://dl.doubtnut.com/l/_KdlC8UJgAnCo


12. Write the systematic IUPAC names of the following compounds: 

Watch Video Solution

CH3 − C ≡ C −

CH3

∣

C
∣

C2H5

− CH3

13. Write the systematic IUPAC names of the following compounds: 

Watch Video Solution

https://dl.doubtnut.com/l/_KdlC8UJgAnCo
https://dl.doubtnut.com/l/_NgXeQVA3gmOu
https://dl.doubtnut.com/l/_a75d4h1wJ3Co


14. Write the systematic IUPAC names of the following compounds: 

Watch Video Solution

CH3 − C
∣

CH3

H − CH2 − CH2 − C
∣

CH3

H − CH2 − CH3

15. Write the systematic IUPAC names of the following compounds: 

Watch Video Solution

https://dl.doubtnut.com/l/_VbHOCNU5Xuh4
https://dl.doubtnut.com/l/_JZnh2ISqbkfE


16. Write the systematic IUPAC names of the following compounds: 

Watch Video Solution

CH3 −

CN

∣

C H − CH2 −

CH3

∣

C
∣

CH3

−

C2H5

∣

CH − CH2Cl

17. Find out the error in the following names and write the correct IUPAC

names: 

3-methyl-4 ethyl-2-hexanol

Watch Video Solution

18. Find out the error in the following names and write the correct IUPAC

names: 

3-butanol-1-oic acid

Watch Video Solution

https://dl.doubtnut.com/l/_yFQOxiippeOC
https://dl.doubtnut.com/l/_cit74UoBVlGd
https://dl.doubtnut.com/l/_4MKwFtoBEvhA
https://dl.doubtnut.com/l/_YF5bc5RwOn0p


19. Find out the error in the following names and write the correct IUPAC

names: 

2-methyl-1-carboxypentene-3.

Watch Video Solution

20. Draw the structures of the following compounds: 

4-nitropent-1-yne

Watch Video Solution

21. Draw the structures of the following compounds: 

5, 5-diethyl-3-nonanol

Watch Video Solution

22. Draw the structures of the following compounds: 

Butane-2, 3-dione

https://dl.doubtnut.com/l/_YF5bc5RwOn0p
https://dl.doubtnut.com/l/_8mrktoOavqyF
https://dl.doubtnut.com/l/_ezrs3Pmt0BCe
https://dl.doubtnut.com/l/_1RIiBE7HLp8K


Watch Video Solution

23. Draw the structures of the following compounds: 

2-keto-3-methylbutanamide

Watch Video Solution

24. Draw the structures of the following compounds: 

1-bromo-3-chlorocyclohexane

Watch Video Solution

25. Draw the structures of the following compounds: 

3-methyl-2-oxobutanoic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_1RIiBE7HLp8K
https://dl.doubtnut.com/l/_4urxjvUszFBN
https://dl.doubtnut.com/l/_vTu6AeUKsxvN
https://dl.doubtnut.com/l/_cpD5T4L9XCh7


26. Write the IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_BdvzUyNBPTwZ


27. Write the IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_wxpuG0qtqVBB


28. Write the IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_xYeLCRQeF6fO


29. Write the IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_0Nh4pwcFEVNt


30. Write the IUPAC names of the following compounds : 

Watch Video Solution

31. Write the IUPAC names of the following compounds : 

Watch Video Solution

https://dl.doubtnut.com/l/_2BQW60hNagUn
https://dl.doubtnut.com/l/_thRByQqo5QM6


32. Write the IUPAC names of the following compounds : 

Watch Video Solution

(CH3)2C = C(CH3)CH = C(C2H5)2

33. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH3CH2 − N
∣

CH3

− CH3

34. Write the IUPAC names of the following compounds : 

Watch Video Solution

CH3 − CH2 − CH2 − CH2 −

O

∣ ∣

C − O − CH2CH3

https://dl.doubtnut.com/l/_thRByQqo5QM6
https://dl.doubtnut.com/l/_GdzD6rB3xhT5
https://dl.doubtnut.com/l/_0gjvvB4qJta9
https://dl.doubtnut.com/l/_7agUmyIxEkq0


35. Write the IUPAC names of the following compounds : 

Watch Video Solution

36. What do you understand by primary, secondary and tertiary hydrogen

atoms ?

Watch Video Solution

37. Write the IUPAC names of the following compounds : (i) t-butyl alcohol

(ii) Lactic acid (iii) Isobutyl alcohol (iv) Glycerine (v) Glycine.

Watch Video Solution

https://dl.doubtnut.com/l/_ZRotA1Gy4HEW
https://dl.doubtnut.com/l/_mdKfECnJUpWt
https://dl.doubtnut.com/l/_kFFXZnXkHEg9


38. Define isomerism and give an example.

Watch Video Solution

39. What is meant by structural isomerism ? Give an example.

Watch Video Solution

40. Define chain isomerism and give an example.

Watch Video Solution

41. Give two examples of position isomerism.

Watch Video Solution

https://dl.doubtnut.com/l/_kFFXZnXkHEg9
https://dl.doubtnut.com/l/_rIXsjGz7N7YD
https://dl.doubtnut.com/l/_d2OGz85O3wCZ
https://dl.doubtnut.com/l/_xKSuUhDGo4cA
https://dl.doubtnut.com/l/_kEwsnOe4KPAv


42. What is meant by functional isomerism ? Explain with an example.

Watch Video Solution

43. Define metamerism. What type of compounds do show it? Give an

example.

Watch Video Solution

44. Write the structural formulae of all isomers of hexane.

Watch Video Solution

45. What is ring-chain isomerism ? Give an example.

Watch Video Solution

https://dl.doubtnut.com/l/_jxtXwYHVeAQ9
https://dl.doubtnut.com/l/_yZD8mtaQqICO
https://dl.doubtnut.com/l/_OZmDch0QkzIk
https://dl.doubtnut.com/l/_zIcsVhfgGhIY


46. What is the difference between tautomerism and resonance ? Explain

with an example.

Watch Video Solution

47. What are the characteristics of tautomeric changes ?

Watch Video Solution

48. What is geometrical isomerism and what type of compounds do

exhibit it?

Watch Video Solution

49. What are the conditions necessary for a compound to show

geometrical isomerism ?

Watch Video Solution

https://dl.doubtnut.com/l/_3LJIcvGqt3kI
https://dl.doubtnut.com/l/_kV1gScn1NxjL
https://dl.doubtnut.com/l/_Qo8ctGRxpuo9
https://dl.doubtnut.com/l/_hxUzzm8n07Lz


50. Geometrical isomerism is caused

Watch Video Solution

51. Explain the cause of geometrical isomerism and state the properties

of geometrical isomers.

Watch Video Solution

52. What is optical activity ?

Watch Video Solution

53. The constant k in Coulomb's law depends on

Watch Video Solution

https://dl.doubtnut.com/l/_hxUzzm8n07Lz
https://dl.doubtnut.com/l/_bKi1KmYNaQbl
https://dl.doubtnut.com/l/_qTYSOdwhDNv1
https://dl.doubtnut.com/l/_m7Bdd4FjSxiP
https://dl.doubtnut.com/l/_svFI7XILz2SX
https://dl.doubtnut.com/l/_UtJPXMMtPl32


54. Define specific rotation.

Watch Video Solution

55. What is meant by the chelate effect? Give an example.

Watch Video Solution

56. What is meant by chiral or asymmetric carbon?

Watch Video Solution

57. The complex that can show optical activity is :

Watch Video Solution

58. What are enantiomers ? Describe their important properties.

https://dl.doubtnut.com/l/_UtJPXMMtPl32
https://dl.doubtnut.com/l/_BEKahxrlaWLY
https://dl.doubtnut.com/l/_VRwv7dIyiOvK
https://dl.doubtnut.com/l/_ItZMTzVtV9wV
https://dl.doubtnut.com/l/_DUfXVp7O9UMc


Watch Video Solution

59. Define optical isomerism and give a brief account of optical isomers.

Watch Video Solution

60. What do you understand by a racemic mixture and why does it have

no effect on plane polarised light?

Watch Video Solution

61. Describe briefly what do you understand by the terms racemisation

and resolution?

Watch Video Solution

62. What is meant by asymmetric synthesis ? Give an example.

W h Vid S l i

https://dl.doubtnut.com/l/_DUfXVp7O9UMc
https://dl.doubtnut.com/l/_o5IBnfvLgkKP
https://dl.doubtnut.com/l/_Ec4ZMyePDwOJ
https://dl.doubtnut.com/l/_BzrVevpFJ4ZN
https://dl.doubtnut.com/l/_asmRTclJr0b1


Watch Video Solution

63. Why is meso-tartaric acid regarded achiral in nature ?

Watch Video Solution

64. Discuss the optical isomerism of lactic acid.

Watch Video Solution

65. Why is the net rotation of meso-tartaric acid zero ?

Watch Video Solution

66. What are diastereoisomers ? Mention their important properties.

Watch Video Solution

https://dl.doubtnut.com/l/_asmRTclJr0b1
https://dl.doubtnut.com/l/_wTKkn9yEejqi
https://dl.doubtnut.com/l/_Xm5xgb7XHxGz
https://dl.doubtnut.com/l/_lQ76NxlqxRQp
https://dl.doubtnut.com/l/_FTNuYoCAV7wz
https://dl.doubtnut.com/l/_ICd2MgHcJWnM


67. How would you detect the presence of carbon and hydrogen in a

compound ?

Watch Video Solution

68. What is sodium extract and how is it prepared ?

Watch Video Solution

69. Lassaigne's test for the detection of nitrogen fails in

Watch Video Solution

70. Explain why : 

A blood red colouration is obtained on addition of to Lassaigne's

solution when the compound contains both N and S.

Watch Video Solution

FeCl3

https://dl.doubtnut.com/l/_ICd2MgHcJWnM
https://dl.doubtnut.com/l/_8OVzyeNNNcYa
https://dl.doubtnut.com/l/_5r3HQOD3cmAT
https://dl.doubtnut.com/l/_9JTAaK0SfTtz


71. Explain why : 

A black precipitate is obtained in the Lassaigne's test for the detection of

sulphur.

Watch Video Solution

72. Explain why : 

A blue or green colour in the flame is obtained during Beilstein's test for

halogens.

Watch Video Solution

73. Explain why : 

Presence of Cl in a compound cannot be detected by adding 

solution to sodium extract if the compound contains nitrogen also.

Watch Video Solution

AgNO3

https://dl.doubtnut.com/l/_eNuvw4BZINA6
https://dl.doubtnut.com/l/_Q2NTOOEkk4hl
https://dl.doubtnut.com/l/_ckmMqZZMwtfM
https://dl.doubtnut.com/l/_xHNR0pEH67Jw


74. Explain why : 

No precipitate is obtained on adding  to chloromethane.

Watch Video Solution

AgNO3

75. Describe the principle involved in the quantitative estimation of

nitrogen by Kjeldahl's method.

Watch Video Solution

76. Describe the Carius method for the estimation of sulphur in a

compound.

Watch Video Solution

77. Describe the principle involved in the estimation of phosphorus in an

unknown organic compound.

Watch Video Solution

https://dl.doubtnut.com/l/_xHNR0pEH67Jw
https://dl.doubtnut.com/l/_yYro2F49Cdso
https://dl.doubtnut.com/l/_nYQtqyrAizBA
https://dl.doubtnut.com/l/_9KvuGdvLaOjN


78. Describe the principle and procedure of determining molecular mass

of an acid by volumetric method.

Watch Video Solution

79. Describe the principle involved in the determination of molecular

mass of an organic acid by silver salt method.

Watch Video Solution

80. On what principle is the chloroplatinate salt method for the

determination of molecular mass of an organic base based ?

Watch Video Solution

https://dl.doubtnut.com/l/_9KvuGdvLaOjN
https://dl.doubtnut.com/l/_zN7JDktTra3p
https://dl.doubtnut.com/l/_wbfDcR7AlP1j
https://dl.doubtnut.com/l/_DDJovHx6Zkiy


81. What do you understand by inductive effect? Illustrate your answer

with at least two examples.

Watch Video Solution

82. How is + l-effect different from - l-effect? Illustrate with examples.

Watch Video Solution

83. Why is +l-effect of t-butyl group greater than that of isopropyl group?

Watch Video Solution

84. Why is dichloroacetic acid stronger than monochloroacetic acid ?

Watch Video Solution

https://dl.doubtnut.com/l/_2IiE1YkaFxKA
https://dl.doubtnut.com/l/_tg9AuNyWSXlZ
https://dl.doubtnut.com/l/_LP1XcGGSQIuG
https://dl.doubtnut.com/l/_3GTxO6jnWeXi


85. Define electromeric effect.

Watch Video Solution

86. What type of effects are involved in the following reactions ? 

Watch Video Solution

87. What are the main points of difference between inductive and

electromeric effects ?

Watch Video Solution

https://dl.doubtnut.com/l/_qPGjxMSHzq9m
https://dl.doubtnut.com/l/_g4FfdQyeHWX6
https://dl.doubtnut.com/l/_7fobgFl98is2
https://dl.doubtnut.com/l/_vbdiIb9VdQ5k


88. When does mesomeric effect come into existence ? Illustrate with

examples.

Watch Video Solution

89. Define mesomeric effect and differentiate + M-effect from - M-effect.

Watch Video Solution

90. Compare inductive effect with mesomeric effect.

Watch Video Solution

91. What do you understand by hyperconjugation effect ? Illustrate with

an example.

Watch Video Solution

https://dl.doubtnut.com/l/_vbdiIb9VdQ5k
https://dl.doubtnut.com/l/_xm8ASdZ3zTNw
https://dl.doubtnut.com/l/_vwwCUQf31ljj
https://dl.doubtnut.com/l/_IBDRMSQyExCk


92. Explain the 

Hyperconjugation effect is also termed as 'no bond resonance'.

Watch Video Solution

93. Why is the hyperconjugation effect exerted by a methyl group greater

than that exerted by an ethyl group?

Watch Video Solution

94. Define heterolytic fission of a covalent bond.

Watch Video Solution

95. Why is a  radical more stable as compared to  and  free

radicals?

Watch Video Solution

3∘ 1∘ 2∘

https://dl.doubtnut.com/l/_UBjTRXwdQIAr
https://dl.doubtnut.com/l/_bPrcFgtrdJ45
https://dl.doubtnut.com/l/_JcQBezCEQ03F
https://dl.doubtnut.com/l/_ombxWzZetiaS


96. What are carbocations ? Give two examples.

Watch Video Solution

97. Discuss the orbital structure of a carbocation.

Watch Video Solution

98. What is relative order of reactivity of various types of carbocations

and carbanions ?

Watch Video Solution

99. Define carbanion and discuss its orbital structure.

Watch Video Solution

https://dl.doubtnut.com/l/_ombxWzZetiaS
https://dl.doubtnut.com/l/_1vrGHIOb1KDT
https://dl.doubtnut.com/l/_iF8P0w1aje6j
https://dl.doubtnut.com/l/_pw6weV6ACS2l
https://dl.doubtnut.com/l/_w3uJJL6uD3PY
https://dl.doubtnut.com/l/_E0Qq9qq9YtSd


100. Why is  carbanion more stable than a 2 carbanion ?

Watch Video Solution

1∘

101. What are carbenes ?

Watch Video Solution

102. What are electrophilic reagents ? Give at least three examples.

Watch Video Solution

103. Why do free radicals and carbenes act as electrophiles ?

Watch Video Solution

https://dl.doubtnut.com/l/_E0Qq9qq9YtSd
https://dl.doubtnut.com/l/_aQa4qHqOLXWZ
https://dl.doubtnut.com/l/_6BXvXXdEW4Hp
https://dl.doubtnut.com/l/_f3jbQv00svbo


104. What do you understand by nucleophilic reagents and what type of

species act as nucleophiles ? Give at least two examples.

Watch Video Solution

105. Why does ether act as a nucleophile ?

Watch Video Solution

106. What are nucleophilic substitution reactions ? Give an example.

Watch Video Solution

107. What are the reactive species involved in  reactions ?

Watch Video Solution

SN 1

https://dl.doubtnut.com/l/_cn0GuR8yDE1q
https://dl.doubtnut.com/l/_uyAjSSC2GQp5
https://dl.doubtnut.com/l/_TY5MwOw8HND0
https://dl.doubtnut.com/l/_UHUVWYU2LnPD


Essay Long Answer Type Questions

108. Explain why does a  reaction involve an inversion in

configuration.

Watch Video Solution

SN 2

109. Give three examples of electrophilic substitution reactions.

Watch Video Solution

110. Discuss the mechanism of anti-Markownikoff addition of HBr to an

unsymmetrical alkene.

Watch Video Solution

1. (b) Why are there very large number of organic compounds ?

https://dl.doubtnut.com/l/_GciIgEjnCDyi
https://dl.doubtnut.com/l/_OaapDFD8yHmL
https://dl.doubtnut.com/l/_vsUzZjvrfKNU
https://dl.doubtnut.com/l/_cofrOGxCUFQu


Watch Video Solution

2. What are organic compounds and how are they classified ? Give two

examples of each type.

Watch Video Solution

3. What are functional groups ? How are the organic compounds

classified on the basis of functional groups ? Mention the functional

group of each class and give at least one example.

Watch Video Solution

4. Discuss with examples the procedure of nomenclature of branched

chain alkanes.

Watch Video Solution

https://dl.doubtnut.com/l/_cofrOGxCUFQu
https://dl.doubtnut.com/l/_hNwg9EoM7qTQ
https://dl.doubtnut.com/l/_VLOoPQw3vE5j
https://dl.doubtnut.com/l/_QYUYVSw66Kc0
https://dl.doubtnut.com/l/_9Iwy8fwLrNsY


5. How would you name a compound when it contains two functional

groups of different types ? Illustrate your answer with examples.

Watch Video Solution

6. What is structural isomerism ? Define different types of structural

isomerism and give an example of each.

Watch Video Solution

7. What is tautomerism ? Give two examples.

Watch Video Solution

8. Define geometrical isomerism and discuss the conditions necessary for

it. Explain with at least two examples.

Watch Video Solution

https://dl.doubtnut.com/l/_9Iwy8fwLrNsY
https://dl.doubtnut.com/l/_jB65CtP88HKN
https://dl.doubtnut.com/l/_ca1CVU4pZAbR
https://dl.doubtnut.com/l/_itrA0z9lKABD


9. Explain the cause of geometrical isomerism and state the properties of

geometrical isomers.

Watch Video Solution

10. Give an example of the compound containing N=N bond and able to

show geometrical isomerism. Write its geometrical isomers.

Watch Video Solution

11. How is the optical rotation of an optically active compound measured

and how is it expressed ?

Watch Video Solution

12. Define chirality. How does it give rise to the phenomenon of optical

activity?

https://dl.doubtnut.com/l/_lrhOH8QZnOxp
https://dl.doubtnut.com/l/_L1eJHJSvSUq8
https://dl.doubtnut.com/l/_ytEXPuT716sG
https://dl.doubtnut.com/l/_kMUNkasPkkEK


Watch Video Solution

13. Discuss the cause of optical activity in a molecule. Support your

answer with two examples.

Watch Video Solution

14. Define optical isomerism and give a brief account of optical isomers.

Watch Video Solution

15. Discuss the optical isomerism exhibited by tartaric acids.

Watch Video Solution

16. What is Lassaigne's solution and how is it prepared ? Discuss the

chemistry of the tests used for the detection of following elements using

https://dl.doubtnut.com/l/_kMUNkasPkkEK
https://dl.doubtnut.com/l/_p1Y6QUWF5RYS
https://dl.doubtnut.com/l/_PPd62KcOq462
https://dl.doubtnut.com/l/_PCvVgdCEjLop
https://dl.doubtnut.com/l/_cuLgFOjeYOfF


this solution. 

N

Watch Video Solution

17. What is Lassaigne's solution and how is it prepared ? Discuss the

chemistry of the tests used for the detection of following elements using

this solution. 

Cl

Watch Video Solution

18. What is Lassaigne's solution and how is it prepared ? Discuss the

chemistry of the tests used for the detection of following elements using

this solution. 

Br

Watch Video Solution

https://dl.doubtnut.com/l/_cuLgFOjeYOfF
https://dl.doubtnut.com/l/_TAytqkJ1SbFK
https://dl.doubtnut.com/l/_1ItOws5Lia0E
https://dl.doubtnut.com/l/_N1DyRbEhfd2i


19. What is Lassaigne's solution and how is it prepared ? Discuss the

chemistry of the tests used for the detection of following elements using

this solution. 

(A) Sulphur

Watch Video Solution

20. Describe the principle used and the procedure for the estimation of C

and H in an organic compound.

Watch Video Solution

21. Describe Duma's method for the estimation of nitrogen in an organic

compound.

Watch Video Solution

https://dl.doubtnut.com/l/_N1DyRbEhfd2i
https://dl.doubtnut.com/l/_lCDwZSZsFDvf
https://dl.doubtnut.com/l/_EFWBQSHq4CPZ


22. Describe the principle involved in the quantitative estimation of

nitrogen by Kjeldahl's method.

Watch Video Solution

23. Describe the Carius method for the estimation of sulphur in a

compound.

Watch Video Solution

24. Describe Victor Meyer's method for the determination of molecular

mass of a volatile substance.

Watch Video Solution

25. Describe the principle involved in the determination of molecular

mass of an organic acid by silver salt method.

https://dl.doubtnut.com/l/_bGri4nbjTQ88
https://dl.doubtnut.com/l/_XJ3R5eIDf5fl
https://dl.doubtnut.com/l/_RMw6sep3eblq
https://dl.doubtnut.com/l/_srdYkDuQGt0M


Watch Video Solution

26. Describe a chemical method commonly used for the determination of

molecular mass of a base.

Watch Video Solution

27. What do you understand by inductive effect? Illustrate your answer

with at least two examples.

Watch Video Solution

28. Define electromeric effect and differentiate between + E and - E-effects

by taking suitable examples. What are the important features of this

effect ?

Watch Video Solution

https://dl.doubtnut.com/l/_srdYkDuQGt0M
https://dl.doubtnut.com/l/_dyeTNsRnbFSa
https://dl.doubtnut.com/l/_AUOFDUmmm4gS
https://dl.doubtnut.com/l/_nk8QXVnd3zwa
https://dl.doubtnut.com/l/_EcLNtnWLfcux


29. Define mesomeric effect and differentiate + M-effect from - M-effect.

Watch Video Solution

30. Explain the 

Hyperconjugation effect is also termed as 'no bond resonance'.

Watch Video Solution

31. Give a brief account of the various reaction intermediates usually

involved in organic reactions.

Watch Video Solution

32. The increasing order of stability of the following free radicals is

Watch Video Solution

https://dl.doubtnut.com/l/_EcLNtnWLfcux
https://dl.doubtnut.com/l/_FS4NIJqXi9X6
https://dl.doubtnut.com/l/_fIdjqvwZSeMJ
https://dl.doubtnut.com/l/_27DBOStwBL6E


33. What are carbocations ? Discuss their orbital structure and explain

the relative order of the stability of various types of carbocations.

Watch Video Solution

34. What are carbanions ? Discuss their orbital structure and explain the

cause of their reactivity. Why is ethyl carbanion more reactive than methyl

carbanion ?

Watch Video Solution

35. What are carbenes ? Discuss the orbital structures of singlet and

triplet carbenes.

Watch Video Solution

https://dl.doubtnut.com/l/_Niomw87VYxiW
https://dl.doubtnut.com/l/_LlHdZTs6cqRo
https://dl.doubtnut.com/l/_3sqgEJwa8rL8


36. What do you understand by electrophiles and nucleophiles and what

type of substances act as these reagents? Explain with examples.

Watch Video Solution

37. What do you understand by  and  reactions ? Taking suitable

examples, discuss their mechanism and stereochemistry.

Watch Video Solution

SN 1 SN 2

38. How is benzene prepared in the laboratory? Write a note on its

electrophilic substitution reactions.

Watch Video Solution

39. Write short notes on 

Free radical substitution reactions.

https://dl.doubtnut.com/l/_zCTpX1hft7Xo
https://dl.doubtnut.com/l/_n97KylGFtUYa
https://dl.doubtnut.com/l/_nBPqeYRUFTLT
https://dl.doubtnut.com/l/_8yWX2aYPZeaI


Objective Multiple Choice Type Questions

Watch Video Solution

40. What are addition reactions ? Discuss the mechanism of different

types of addition reactions.

Watch Video Solution

41. What do you understand by elimination reactions ? Discuss the

mechanism of  and  reactions.

Watch Video Solution

E1 E2

42. What are intramolecular and intermolecular forces ? Explain with

suitable examples.

Watch Video Solution

https://dl.doubtnut.com/l/_8yWX2aYPZeaI
https://dl.doubtnut.com/l/_tzKA5mEteraM
https://dl.doubtnut.com/l/_HYotubPA5kXO
https://dl.doubtnut.com/l/_Kk77FFRfUhnS


1. What is the correct IUPAC name of the following compound? 





3, 4-dimethyl-3n-propylnonane


6,7-dimethyl-2-n-propyinonane


6,7-dimethyl-7-ethyldecane


4,5-dimethyl-4-ethyldecane.

A. 3, 4-dimethyl-3n-propylnonane

B. 6,7-dimethyl-2-n-propyinonane

C. 6,7-dimethyl-7-ethyldecane

D. 4,5-dimethyl-4-ethyldecane.

Answer: D

Watch Video Solution

CH3CH2CH2CH2CH2CH
∣

CH3

−

CH3

∣

C
∣

CH2CH2CH3

− CH2CH3

https://dl.doubtnut.com/l/_KaDd6o2Mfz56


2. Name of the compound 

 


as per IUPAC system is

A. 3, 3, 3-trimethyl-1-propane

B. 1, 1, 1-trimethyl-3-propanone

C. 3, 3-dimethylbut-1-ene

D. 1, 1-dimethyl-3-butene.

Answer: C

Watch Video Solution

H3C −

CH3

∣

C
∣

CH3

− CH = CH2

3. The compound which has one isopropyl group is


2, 2, 3, 3-tetramethylpentane


2,2-dimethylpentane 

https://dl.doubtnut.com/l/_OAFe0tiOD4h8
https://dl.doubtnut.com/l/_T63OK8YHBrlU


2, 2, 3-trimethylpentane


2-methylpentane.

A. 2, 2, 3, 3-tetramethylpentane

B. 2,2-dimethylpentane

C. 2, 2, 3-trimethylpentane

D. 2-methylpentane.

Answer: D

Watch Video Solution

4. The IUPAC name of the compound having structure 

A. 3-methyl-2-ethylbutene-1

B. 2-ethyl-3-methylbut-1-ene

C. 3-ethyl-3-methyl-butene-1

C2H5 −
∣ ∣

C
CH2

−

https://dl.doubtnut.com/l/_T63OK8YHBrlU
https://dl.doubtnut.com/l/_OmaF0zwsBqrv


D. ethyl isopropyl ethene.

Answer: B

Watch Video Solution

5. Which of the following IUPAC names is not correctly matched?

A. 2-methyl-3-ethylpentane

B. 2-ethyl-3-methylpentane

C. 3-ethyl-2-methylpentane

D. 3-methyl-2-ethylpentane.

Answer: C

Watch Video Solution

6. How many isomers are possible for the alkyl group −C4H9

https://dl.doubtnut.com/l/_OmaF0zwsBqrv
https://dl.doubtnut.com/l/_UwbNpei3Hn5n
https://dl.doubtnut.com/l/_urCOu2E3xWJO


A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

7. The IUPAC name of the compound 

 is

A. 1, 2, 3-tricyanopropane

B. 3-cyanopentane-1, 5-dinitrile

C. 1, 2, 3-cyanopropane

D. propanetrinitrile-1, 2, 3

Answer: A

CH2
∣

CN

− CH
∣

CN

− CH2
∣

CN

https://dl.doubtnut.com/l/_urCOu2E3xWJO
https://dl.doubtnut.com/l/_qxlnccr9Llzg


Watch Video Solution

8. Write the IUPAC names of the compound: 

A. 1, 1-dimethyl-2-propene

B. 3-methylbut-1-ene

C. 2-vinyl propane

D. 1-isopropyl ethylene.

Answer: B

Watch Video Solution

CH2 = CH − CH ≡ C − CH3

9. The IUPAC name of will be

A. 4-hydroxy-1-methylpentanal

CH3 − C
।
OH

H − CH2 − CH
।

CH3

− CHO

https://dl.doubtnut.com/l/_qxlnccr9Llzg
https://dl.doubtnut.com/l/_i3ZhHEuxfFiI
https://dl.doubtnut.com/l/_nCLgBvgKGtyK


B. 4-hydroxy-2-methylpentanal

C. 3-hydroxy-2-methylpentanal

D. 3-hydroxy-3-methylpentanal.

Answer: B

Watch Video Solution

10. 2-methylbut-2-ene will be represented as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH
∣

CH3

− CH2 − CH3

CH3 − C
∣

CH3

= CH − CH3

CH3 − CH2 −

CH3

∣

C − CH2

CH3 − CH
∣

CH3

− CH = CH2

https://dl.doubtnut.com/l/_nCLgBvgKGtyK
https://dl.doubtnut.com/l/_5OBq8IbNQX47


11. In which of the following compounds is the numbering of carbon

atoms in the chain correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4

CH3 −
3

C
∣

C2H5

H −
2

CH =
1

CH2

1

CH3 −

CH3

2 ∣

C
∣

CH3

−
3

CH2 −

CH3

∣
4CH −

5

CH3

1

CH3 −
2

CH2 −

OH

∣
3CH −

4

CH3

5

CH3 −
4

CH2 −
3

CH −
2

C ≡
1

CH

                       ∣

                      CH2 − CH2 − CH3

12. IUPAC name of  is

A. 4-hydroxypentanoic acid

CH3CH(OH)CH2CH2COOH

https://dl.doubtnut.com/l/_5OBq8IbNQX47
https://dl.doubtnut.com/l/_3owh7PgAiT8E
https://dl.doubtnut.com/l/_e8AjB75QJa4H


B. 1-carboxy-3-butanol

C. 1-carboxy-4-butanol

D. 4-carboxy-2-butanol.

Answer: A

Watch Video Solution

13. The IUPAC name of the following compounds is 

A. 2-ethyl-3-methylbut-1-ene

B. 2-isopropylbut-1-ene

C. 2-methyl-3-ethylbut-3-ene

D. ethyl isopropyl ethane.

Answer: A

CH2 = C
∣

      CH −CH3

∣

CH3

− CH2 − CH3

https://dl.doubtnut.com/l/_e8AjB75QJa4H
https://dl.doubtnut.com/l/_x6aWlcdEQuu7


Watch Video Solution

14. The IUPAC name of the compound 

A. 3-phenylbutane

B. 3-cyclohexylbutane

C. 2-cyclohexybutane

D. 2-phenylbutane.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_x6aWlcdEQuu7
https://dl.doubtnut.com/l/_RfexrDZas8H2


15. Which of the following compounds is 2,2,3-trimethylhexane?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

−

CH3

∣

CH − CH2CH3

CH3 −

CH3

∣

C
∣

CH3

− CH2 −

CH3

∣

CH2 − CH3

CH3 − C
∣

CH3

H − CH2 − CH2 −

CH3

∣

C
∣

CH3

− CH3

CH −

CH3

∣

C
∣

CH3

−

CH3

∣

C H − CH2 − CH2 − CH3

16. The correct name of the following compound is 

CH3CH2 − C = CH −

CH3

∣

C H − CH2 − CH3

                  ∣

CH3CH2 − CH − CH2 − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_zzHsJxNYsVxA
https://dl.doubtnut.com/l/_KpV2CrFg9uwg


A. 5, 6-diethyl-3-methyldec-4-ene

B. 5, 6-diethyl-8-methyl-dec-6-ene

C. 6-butyl-5-ethyl-3-methyl-oct-4-ene

D. 2, 4,5-triethyl-3-nonene.

Answer: A

Watch Video Solution

17. The IUPAC name of 

A. ethoxymethanone

https://dl.doubtnut.com/l/_KpV2CrFg9uwg
https://dl.doubtnut.com/l/_nWJTbU9sehZt


B. 2-methylethylpropanoate

C. ethoxypropanone

D. 2-methylethoxypropanone.

Answer: B

Watch Video Solution

18. The IUPAC name of  is

A. 4-methylpent-2-yne

B. 4,4' -dimethyl-2-pentyne

C. methyl isopropyl acetylene

D. 2-methyl-4-pentyne.

Answer: A

Watch Video Solution

CH3 − C ≡ C. CH(CH3)2

https://dl.doubtnut.com/l/_nWJTbU9sehZt
https://dl.doubtnut.com/l/_4rxLHRYQvfRa
https://dl.doubtnut.com/l/_GdQoN988ubkb


19. Following types of compounds (as I, II) 

 





are studied in terms of isomerism in

A. chain isomerism

B. position isomerism

C. conformers

D. stereo isomerism.

Answer: D

Watch Video Solution

(I)CH3CH = CHCH3

(II)CH3 − C
∣

CH2CH3

H − OH

20. The IUPAC name of  is

A. isopropylmethyl ketone

B. 2-methylbutan-3-one

CH3COCH(CH3)2

https://dl.doubtnut.com/l/_GdQoN988ubkb
https://dl.doubtnut.com/l/_KiXNMkpea5Px


C. 4-methylisopropyl ketone

D. 3-methylbutan-2-one.

Answer: D

Watch Video Solution

21. The IUPAC name of the compound 

A. 3,3-dimethyl-1-hydroxycyclohexane

B. 1,1-dimethyl-3-hydroxycyclohexane

C. 3,3-dimethylcyclohexan-1-ol

D. 1,1-dimethylcyclohexan-3-ol.

https://dl.doubtnut.com/l/_KiXNMkpea5Px
https://dl.doubtnut.com/l/_DMWPADf2f1Tl


Answer: C

Watch Video Solution

22. Of the five isomeric hexanes, the isomer which can give two

monochlorinated compounds is


2-methylpentane


2,2-dimethylbutane


2,3-dimethylbutane 

n-hexane.

A. 2-methylpentane

B. 2,2-dimethylbutane

C. 2,3-dimethylbutane

D. n-hexane.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DMWPADf2f1Tl
https://dl.doubtnut.com/l/_vfsCD2fegSDd


23. The IUPAC name of the compound shown below is 

A. 2-bromo-6-chlorocyclohex-1-ene

B. 6-bromo-2-chlorocyclohexene

C. 3-bromo-1-chlorocyclohexene

D. 1-bromo-3-chlorocyclohexene.

https://dl.doubtnut.com/l/_vfsCD2fegSDd
https://dl.doubtnut.com/l/_4WT0mZaCk2ZN


Answer: C

Watch Video Solution

24. The IUPAC name of

 is

A. 1,1-diethyl-2, 2-dimethylpentane

B. 4,4-dimethyl-5, 5-diethylpentane

C. 5,5-diethyl-4, 4-dimethylpentane

D. 3-ethyl-4, 4-dimethylheptane.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4WT0mZaCk2ZN
https://dl.doubtnut.com/l/_NtZVaXSRrqjm


25. The correct IUPAC name of the compound 

 is

A. 3-ethyl-4-ethenylheptane

B. 3-ethyl-4-propylhex-5-ene

C. 3-(1-ethyl propyl) hex-1-ene

D. 4-ethyl-3-propylhex-1-ene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NtZVaXSRrqjm
https://dl.doubtnut.com/l/_S6gRAZcahCJ3


26. Which nomenclature is not according to IUPAC system?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Br − CH2 − CH = CH2
1-bromo prop-2-ene

CH3 − CH2 −

CH3

∣

C
∣

Br

− CH2 − C
∣

CH3

HCH3

4-bromo-2,4-dimethylhexane

CH3 − ∣ ∣C−CH2 −CH2 −CH2 −CH2COOH

O
5-oxohexanoic acid

27. The compounds butan-1-ol and 2-methylpropan-1-ol are

A. chain isomers

B. position isomers

C. functional isomers

https://dl.doubtnut.com/l/_0iAoexEWc9gx
https://dl.doubtnut.com/l/_EJNlDE0d53DG


D. metamers

Answer: A

Watch Video Solution

28. Which of the following statements is correct?

A. Structural isomers have similar physical and chemical properties.

B. Alcohols and ethers form functional pairs.

C. The compound having formula  has two metamers.

D. Tautomerism and resonance are two different names for the same

phenomenon.

Answer: B

Watch Video Solution

C4H11N

https://dl.doubtnut.com/l/_EJNlDE0d53DG
https://dl.doubtnut.com/l/_DuW0RChBOZ9G


29. Write the structures of three ethers with molecular formula .

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

C4H10O

30. Propanal is the functional isomer of

A. propane

B. propan-1-ol

C. propan-2-ol

D. propan-2-one.

https://dl.doubtnut.com/l/_4cSe23PgjHgu
https://dl.doubtnut.com/l/_jj2lNTxyzxSi


Answer: D

Watch Video Solution

31. In tautomerism, the two tautomeric forms continuously change into

each other through the oscillation of

A. a proton

B. -electrons

C. a proton and -electrons

D. none of the above.

Answer: C

Watch Video Solution

π

π

32. The enolic form of  isCH3 −

O

। ।
C − CH2COOC2H5

https://dl.doubtnut.com/l/_jj2lNTxyzxSi
https://dl.doubtnut.com/l/_3Bggt9y1X2r3
https://dl.doubtnut.com/l/_A5i0lMdr83eR


A. 

B. 

C. 

D. none of the above.

Answer: B

Watch Video Solution

CH2 =

OH

∣

C − CH2COOC2H5

CH3 −

OH

∣

C = CHCOOC2H5

CH3 −

O

∣ ∣

C − CH =

OH

∣

C − COOC2H5

33. How many chain isomers are possible with the formula 

A. 5

B. 7

C. 9

D. 18

Answer: C

C7H16 ?

https://dl.doubtnut.com/l/_A5i0lMdr83eR
https://dl.doubtnut.com/l/_z1Ro6EuWH4mx


Watch Video Solution

34. The isomerism shown by butan-1-amine and 2-methylpropan l-amine is

A. chain isomerism

B. position isomerism

C. functional isomerism

D. metamerism

Answer: A

Watch Video Solution

35. The number of conformations exhibited by ethane is

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_z1Ro6EuWH4mx
https://dl.doubtnut.com/l/_ePlz5Ttq2nCI
https://dl.doubtnut.com/l/_XpBK0YraK99x


D. infinite

Answer: D

Watch Video Solution

36. Which of the following statements is correct?

A. Ethane can have only three conformations.

B. In staggered conformation, the hydrogen atoms of the nearer

methyl group just eclipse the hydrogen atoms of the farther methyl

group.

C. The staggered conformer is more stable than the eclipsed

conformer.

D. The staggered and eclipsed conformers of ethane can be isolated in

the pure form.

Answer: C

https://dl.doubtnut.com/l/_XpBK0YraK99x
https://dl.doubtnut.com/l/_ooKxrpeEOtYH


Watch Video Solution

37. At room temperature, the staggered and eclipsed conformers of

ethane continuously change into each other. This is because

A. they are very unstable

B. C-C bond is flexible

C. the energy barrier between the two is not large enough to prevent

rotation

D. C atom in ethane has a tetrahedral nature.

Answer: C

Watch Video Solution

38. Which of the following letters possesses chirality ? 

A


X


https://dl.doubtnut.com/l/_ooKxrpeEOtYH
https://dl.doubtnut.com/l/_fyMlDdbnWflK
https://dl.doubtnut.com/l/_jFf7zunio1Nx


H


J

A. A

B. X

C. H

D. J

Answer: D

Watch Video Solution

39. A compound of the type 

A. does not show optical isomerism

B. has two optically active and one meso isomers

C. has two meso and one optically active isomers

D. has four optically active isomers.

Cabd − Cabd

https://dl.doubtnut.com/l/_jFf7zunio1Nx
https://dl.doubtnut.com/l/_c1Zrs2uQUcfs


Answer: B

Watch Video Solution

40. The compound represented by the following structure 

 


is optically inactive because

A. it contains no asymmetric carbon atom

B. it contains two asymmetric carbon atoms and the molecule is chiral

C. it has no element of symmetry

D. it is an achiral molecule due to the presence of a plane of symmetry.

Answer: D

Watch Video Solution

     COOH

      ∣

H − C − OH

      ∣

H − C − OH

      ∣

     COOH

https://dl.doubtnut.com/l/_c1Zrs2uQUcfs
https://dl.doubtnut.com/l/_JcSrtlsLPpRc


41. Which of the following compounds does possess one or more

asymmetric carbon atoms?

A. Propan-1-ol

B. Butan-2-ol

C. Acetic acid

D. Succinic acid

Answer: B

Watch Video Solution

42. The d- and l- forms of an optically active compound are called

A. enantiomers

B. diastereoisomers

C. anomers

https://dl.doubtnut.com/l/_JcSrtlsLPpRc
https://dl.doubtnut.com/l/_JzQbPVgQIRLk
https://dl.doubtnut.com/l/_25nVgCJANv2y


D. epimers

Answer: A

Watch Video Solution

43. Lactic acid (2-hydroxypropanoic acid) is an optically active compound.

It can be made optically inactive by

A. replacing its OH group by H

B. replacing its OH group by CI

C. replacing its OH group by Br

D. none of the above.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_25nVgCJANv2y
https://dl.doubtnut.com/l/_VAb3Lg9liuJ3


44. When pyruvic acid is reduced under normal

conditions

A. d-lactic acid is obtained

B. l-lactic acid is obtained

C. dl-lactic acid is obtained

D. the process is called asymmetric synthesis.

Answer: C

Watch Video Solution

⎛
⎜⎜
⎝
CH3 −

O

∣ ∣

C − COOH

⎞
⎟
⎟
⎠

45. Which of the following types of compounds is unable to exhibit

geometrical isomerism ?

A. abc = Cab

B. axC = Cay

https://dl.doubtnut.com/l/_S3RMePWjs59H
https://dl.doubtnut.com/l/_SLAngAkGZerR


C. aaC = Cab

D. none of these

Answer: C

Watch Video Solution

46. Write the systematic IUPAC names of the following compounds : 

A. geometrical isomerism

B. optical isomerism

C. both

D. none of the above.

Answer: A

Watch Video Solution

C6H5 − CH = CH − COOH

https://dl.doubtnut.com/l/_SLAngAkGZerR
https://dl.doubtnut.com/l/_tSyLr0BrkGMs
https://dl.doubtnut.com/l/_lV6EcnM8LTJC


47. Which of the following compounds cannot exist in cis and trans

forms?

A. But-2-ene

B. But-2-ene-1, 4-dioic acid

C. 2-bromo-3-methylbut-2-ene

D. But-2-enoic acid

Answer: C

Watch Video Solution

48. Which of the following statements is not correct?

A. Geometrical isomers possess different physical properties.

B. Geometrical isomers can be separated by fractional distillation.

C. cis-isomers are more stable than trans-isomers.

https://dl.doubtnut.com/l/_lV6EcnM8LTJC
https://dl.doubtnut.com/l/_gHWYunkWjgKu


D. The chemical properties of geometrical isomers may or may not be

similar.

Answer: C

Watch Video Solution

49. Consider the following conformations. Which of the following

statements is correct? 

A. Structure I represents staggered conformation.

B. Structure Il represents a skew conformation

C. Structure Ill represents eclipsed conformation.

D. I, II and III are the conformations of propane.

https://dl.doubtnut.com/l/_gHWYunkWjgKu
https://dl.doubtnut.com/l/_8j8GjOEZQOda


Answer: A

Watch Video Solution

50. The structure

 shows

A. geometrical isomerism

B. optical isomerism

C. geometrical and optical isomerism

D. tautomerism

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_8j8GjOEZQOda
https://dl.doubtnut.com/l/_auA8dGUue8OD


Watch Video Solution

51. Which of the following has an asymmetric carbon atom ?


(a) 



(b) 



(c) 



(d)

A. 

B. 

C. 

D. 

Answer: B

CH3 − CH2 − CH2Br

CH3 −

H

∣

C
∣

Br

− C
∣

CH3

H − CH3

CH3 − cH2 −

Br

∣

C
∣

CH3

− CH3

CH3 −

∣

CH3

∣

C
∣

Br

− CH2 − CH2 − CH3

CH3 − CH2 − CH2Br

CH3 −

H

∣

C
∣

Br

− C
∣

CH3

H − CH3

CH3 − cH2 −

Br

∣

C
∣

CH3

− CH3

CH3 −

∣

CH3

∣

C
∣

Br

− CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_auA8dGUue8OD
https://dl.doubtnut.com/l/_ngOWNvTOkHsX


Watch Video Solution

52. The compound which does not exhibit optical isomerism is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CHBrCOOH

CH2ClCH2COOH

CH3CHOHCOOC2H5

CH3CHOHCOOH

https://dl.doubtnut.com/l/_ngOWNvTOkHsX
https://dl.doubtnut.com/l/_ClxnTBUkpjG2


53. The correct statements about the compounds A, B and C is 

A. A and B are identical

B. A and B are diastereoisomers

C. A and C are enantiomers

D. A and B are enantiomers.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iBK5th2hwP3u


54. How many optically active stereoisomers are possible for butane-2, 3-

diol 

1


2


3


4

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

55. During debromination of meso-dibromobutane, the major compound

formed is


https://dl.doubtnut.com/l/_l8sQNW7ZNfom
https://dl.doubtnut.com/l/_vIZ1OBuw9C0G


n-butane


but-1-ene 

cis-but-2-ene 

trans-but-2-ene

A. n-butane

B. but-1-ene

C. cis-but-2-ene

D. trans-but-2-ene

Answer: D

Watch Video Solution

56. Which one of the following compounds will show geometrical

isomerism ?

A. But-2-ene

B. Propene

https://dl.doubtnut.com/l/_vIZ1OBuw9C0G
https://dl.doubtnut.com/l/_Sl1drlsBVXZe


C. Ethene

D. 2-methylbut-2-ene

Answer: A

Watch Video Solution

57. Out of the following, the alkene that exhibits optical isomerism is


3-methyl-2-pentene


4-methyl-1-pentene


3-methyl-1-pentene 

2-methyl-2-pentene

A. 3-methyl-2-pentene

B. 4-methyl-1-pentene

C. 3-methyl-1-pentene

D. 2-methyl-2-pentene

Answer: C

https://dl.doubtnut.com/l/_Sl1drlsBVXZe
https://dl.doubtnut.com/l/_usmSbdv8zSTt


Watch Video Solution

58. Identify the compound that exhibits tautomerism:


2-butene


lactic acid


2-pentanone


phenol

A. 2-butene

B. lactic acid

C. 2-pentanone

D. phenol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_usmSbdv8zSTt
https://dl.doubtnut.com/l/_tcFiHgp0GIkG


59. How many chiral compounds are possible on monochlorination of 2-

methyl butane?

A. 8

B. 2

C. 4

D. 6

Answer: B

Watch Video Solution

60. Which branched chain isomer of the hydrocarbon with molecular

mass  gives only one isomer of mono substituted alkyl halide ?

A. Tertiary butyl chloride

B. Neopentane

C. Isohexane

72u

https://dl.doubtnut.com/l/_tYCNOgyXXcxr
https://dl.doubtnut.com/l/_VVuyZexoSLT6


D. Neohexane

Answer: B

Watch Video Solution

61. Which of the following acids does not exhibit optical isomerism?

A. Maleic acid

B. -amino acids

C. Lactic acid

D. Tartaric acid

Answer: A

Watch Video Solution

α

62. Lassaigne's test is used in the qualitative analysis to detect

https://dl.doubtnut.com/l/_VVuyZexoSLT6
https://dl.doubtnut.com/l/_cdsBM6lnI1AX
https://dl.doubtnut.com/l/_y8StZ0gOGdwG


A. nitrogen

B. sulphur

C. chlorine

D. all of these.

Answer: D

Watch Video Solution

63. A compound which does not give positive test for nitrogen is:


urea


azobenzene 

glycine


phenyl hydrazine.

A. urea

B. azobenzene

C. glycine

https://dl.doubtnut.com/l/_y8StZ0gOGdwG
https://dl.doubtnut.com/l/_m1p51MuzYAXW


D. phenyl hydrazine.

Answer: B

Watch Video Solution

64. For detection of sulphur in an organic compound, sodium

nitroprusside is added to the sodium extract. A violet colour is obtained

which is due to the formation of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na4[Fe(CN)5NOS]

Na3Fe(CN)6

Fe(CNS)3

Na[Fe(CN)5NS]

https://dl.doubtnut.com/l/_m1p51MuzYAXW
https://dl.doubtnut.com/l/_DACVMoaeWSBQ
https://dl.doubtnut.com/l/_tSR2ClLJkwOK


65. In sodium fusion test of organic compounds, the nitrogen of an

organic compound is converted to

A. sodamide

B. sodium cyanide

C. sodium nitrite

D. sodium nitrate.

Answer: B

Watch Video Solution

66. The Beilstein test for organic compounds is used to detect

A. carbon

B. halogens

C. nitrogen

D. sulphur

https://dl.doubtnut.com/l/_tSR2ClLJkwOK
https://dl.doubtnut.com/l/_GPARX1hdPoUn


Answer: B

Watch Video Solution

67. In the Duma's method for estimating nitrogen in an organic

compound, the gas finally collected is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

N2

NO

NH3

68. In Kjeldahl's method, nitrogen present is estimated as

https://dl.doubtnut.com/l/_GPARX1hdPoUn
https://dl.doubtnut.com/l/_5mnVZCfyaZHb
https://dl.doubtnut.com/l/_fiJqdsRuqE7B


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

N2

NH3

NO2

69. Carbon and hydrogen are estimated by

A. Liebig's method

B. Carius method

C. Duma's method

D. none of these.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fiJqdsRuqE7B
https://dl.doubtnut.com/l/_nTgbAkMVeckv


70. A compound containing 80% C and 20% H is likely to be:














A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H6

C2H6

C2H4

C2H2

C6H6

C2H6

C2H4

C2H2

71. An organic compound is found to contain C - 40%. 0 = 53.34% and H =

6.66%. Its empirical formula is

https://dl.doubtnut.com/l/_nTgbAkMVeckv
https://dl.doubtnut.com/l/_HNdbHp1E6eiK
https://dl.doubtnut.com/l/_ncVRsEvkm7GE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CHO

CH2O

C2H2O

CH4O2

72. An organic compound has an empirical formula . Its vapour

density is 45. The molecular formula of the compound is

A. 

B. 

C. 

D. 

Answer: C

CH2O

CH2O

C2H5O

C3H6O3

C2H2

https://dl.doubtnut.com/l/_ncVRsEvkm7GE
https://dl.doubtnut.com/l/_OBubIQySZ0BM


Watch Video Solution

73. The empirical formula of a compound is . One mole of this

compound has a mass of 42 grams. Its molecular formula is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2

C3H6

C2H6

CH2

C2H2

74. The concentration of C = 85.45%, and H = 14.44% is not obeyed by the

formula

A. CH2

https://dl.doubtnut.com/l/_OBubIQySZ0BM
https://dl.doubtnut.com/l/_45LBB6M0Iq7P
https://dl.doubtnut.com/l/_gga9Zm1qy4t1


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H4

C2H6

C4H8

75. If two compounds have the same empirical formula but different

molecular formula, they must have

A. different percentage composition

B. same viscosity

C. different molecular masses

D. same vapour density.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gga9Zm1qy4t1
https://dl.doubtnut.com/l/_8rFo7A0vcQDe


76. 0.759 g of a silver salt of a dibasic organic acid on ignition gave 0.463

g of silver. The molecular mass of the acid is

A. 70

B. 140

C. 108

D. 216

Answer: B

Watch Video Solution

77. 0.400 g of chloroplatinate salt of a monoacid base on ignition gave

0.125 g of platinum. Find the molecular mass of the base.

A. 104

B. 107

https://dl.doubtnut.com/l/_8rFo7A0vcQDe
https://dl.doubtnut.com/l/_jq0Kg5fGiBlM
https://dl.doubtnut.com/l/_ytkxV7h1xsXe


C. 154

D. 214

Answer: B

Watch Video Solution

78. 0.500 g of the silver salt of an organic dibasic acid on ignition gives

0.325 g of pure silver. Find the molecular mass of the acid.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

59.15

117.9

119.6

189.8

https://dl.doubtnut.com/l/_ytkxV7h1xsXe
https://dl.doubtnut.com/l/_R8HDA6etiMsU
https://dl.doubtnut.com/l/_QZfkMErY3hNO


79. In a Victor Meyer's determination of molecular mass, 0.1015 g of an

organic substance displaced 26.16 mL of air at S.T.P. The molecular mass of

the substance is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

22.4

44.8

76.4

86.9

80. 0.29 g of an organic compound on combustion gave 0.66 g of 

and 0.27 g of . The percentage of carbon and hydrogen in the given

compound respectively are

A. 

CO2

H2O

10.3, 62.1

https://dl.doubtnut.com/l/_QZfkMErY3hNO
https://dl.doubtnut.com/l/_ejeHRoPwY5RY


B. 

C. 

D. 

Answer: C

Watch Video Solution

44.6, 10.7

62.1, 10.3

10.7, 44.6

81. The blue compound formed in the positive test for nitrogen with

Lassaigne solution of an organic compound is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe4[Fe(CN)6]3

Na3[Fe(CN)6]

Fe(CN)3

Na4[Fe(CN)5NOS]

https://dl.doubtnut.com/l/_ejeHRoPwY5RY
https://dl.doubtnut.com/l/_Ev0FgBrkfTno


82. The ammonia evolved from the treatment of 0.30 g of an organic

compound for the estimation of nitrogen was passed in 100 mL of 0.1 M

sulphuric acid. The excess of acid required 20 mL of 0.5 M sodium

hydroxide solution for complete neutralisation. The organic compound is:

acetamide


benzamide 

urea


thiourea

A. acetamide

B. benzamide

C. urea

D. thiourea

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Ev0FgBrkfTno
https://dl.doubtnut.com/l/_hP2xyXeGiv3A
https://dl.doubtnut.com/l/_ajLDU0YSibjJ


83. An organic compound having molecular mass 60 is found to contain C

= 20%, H = 6.67% and N = 46.67% while rest is oxygen. On heating it gives

NH3 along with a solid residue. The solid residue gives violet colour with

alkaline copper sulphate solution. The compound is?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CONH2

(NH2)2CO

CH3CONH2

CH3NCO

84. The blue compound formed in the positive test for nitrogen with

Lassaigne solution of an organic compound is

A. Fe4[Fe(CN)6]3

https://dl.doubtnut.com/l/_ajLDU0YSibjJ
https://dl.doubtnut.com/l/_qw2bRonK3Q5X


B. 

C. 

D. 

Answer: A

Watch Video Solution

Na3[Fe(CN)6]

Fe(CN)3

Na4[Fe(CN)5NOS]

85. 29.5 mg of an organic compound containing nitrogen was digested

according to Kjeldahl's method and the evolved ammonia was absorbed

in 20 mL of 0.1 M HCl solution. The excess of the acid required 15 mL of 0.1

M NaOH solution for complete neutralization. The percentage of nitrogen

in the compounds is

A. 

B. 

C. 

D. 

59.0

47.4

23.7

29.5

https://dl.doubtnut.com/l/_qw2bRonK3Q5X
https://dl.doubtnut.com/l/_w972rwJwVehk


Answer: C

Watch Video Solution

86. In Dumas’ method for estimation of nitrogen, 0.3g of an organic

compound gave 50mL of nitrogen collected at 300K temperature and

715mm pressure. Calculate the percentage composition of nitrogen in the

compound. (Aqueous tension at 300K=15 mm)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

16.45

17.45

14.45

15.45

https://dl.doubtnut.com/l/_w972rwJwVehk
https://dl.doubtnut.com/l/_wC0xBSWXKdlv


87. For testing halogens in an organic compound with  solution,

sodium extract (Lassaigne's test) is acidified with dilute . What will

happen if a student acidifies the extract with dilute  in place of

dilute  ?

A. helps in the precipitation of AgCI

B. increases the solubility product of AgCI

C. increases the concentration of  ions

D. decomposes  and NaCN, if formed

Answer: D

Watch Video Solution

AgNO3

HNO3

H2SO4

HNO3

NO−
3

Na2S

88. In the Kjeldahl's method for estimation of nitrogen present in a soil

sample, ammonia evolved from 0.75 g of sample neutralised 10 mL of 1 M

H2SO4. The percentage of nitrogen in the soil is

https://dl.doubtnut.com/l/_HLd8GYRyPlDS
https://dl.doubtnut.com/l/_CvVgl80R5cDC


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

37.33

45.33

35.33

43.33

89. For the estimation of nitrogen  of organic compound was diagest

by Kjedahl method an the evolved ammonia was absorbed in  of

 sulphuric acid. The unreacted acid required 20 ml of  sodium

hydroxide for complete neutralization. The percentage of nitrogen in the

compound is :

A. 

B. 

C. 

1.4g

60mL

M

10

M

10

6 %

10 %

3 %

https://dl.doubtnut.com/l/_CvVgl80R5cDC
https://dl.doubtnut.com/l/_62fayuywWJR2


D. 

Answer: B

Watch Video Solution

5 %

90. Which of the following ions is most stable ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2

+

CH2

CH3

+

CHCH2CH3

(CH3)3C
+

(CH3)3

+

C. CH2

https://dl.doubtnut.com/l/_62fayuywWJR2
https://dl.doubtnut.com/l/_XQl79f5XHDct


91. The number of electrons present in the valence shell of carbon

bearing negative charge in a carbanion is

A. 4

B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

92. The compound which gives the most stable carbonium ion on

dehydration is

A. 

B. 

CH3 − C
∣

CH3

H − CH2OH

CH3 −

CH3

∣

C
∣

CH3

− OH

https://dl.doubtnut.com/l/_6FWNBkpMqXIK
https://dl.doubtnut.com/l/_cPGL5z0dmUE6


C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2CH2OH

CH3 − C
∣

OH

H − CH2 − CH3

93. In a free radical, the carbon atom carrying unpaired electron is

A. sp hybridised

B.  hybridised

C.  hybridised

D.  hybridised

Answer: B

Watch Video Solution

sp2

sp3

dsp2

https://dl.doubtnut.com/l/_cPGL5z0dmUE6
https://dl.doubtnut.com/l/_Jmz0XJxnPNbx


94. Nitration of benzene is

A. nucleophilic substitution

B. nucleophilic addition

C. electrophilic substitution

D. free radical substitution.

Answer: C

Watch Video Solution

95. The reaction intermediates involved in the addition of HBr to propene

in the presence of an organic peroxide are


(a) free radicals


(b)carbocations 

(c)carbanions


(d)carbenes

https://dl.doubtnut.com/l/_KqyejqxSqIBL
https://dl.doubtnut.com/l/_tjdKXzVpR9g3


A. free radicals

B. carbocations

C. carbanions

D. carbenes

Answer: A

Watch Video Solution

96. The shape of carbanion  is:



linear


bent 

pyramidal


tetrahedral

A. linear

B. bent

C. pyramidal

[CH3] −

https://dl.doubtnut.com/l/_tjdKXzVpR9g3
https://dl.doubtnut.com/l/_PUvFrFyMIob7


D. tetrahedral

Answer: C

Watch Video Solution

97. Which of the following is an electrophile ?














A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH3

AlCl3

OH −

CH3 − O − CH3

NH3

AlCl3

OH −

CH3 − O − CH3

https://dl.doubtnut.com/l/_PUvFrFyMIob7
https://dl.doubtnut.com/l/_urUtA7TQ5GbG


98. Heterolytic fission of C—Cl bond produces 

two free radicals


two carbonium ions


two carbanions


one cation and one anion.

A. two free radicals

B. two carbonium ions

C. two carbanions

D. one cation and one anion.

Answer: D

Watch Video Solution

99. Which one of the following is the strongest acid ?

https://dl.doubtnut.com/l/_urUtA7TQ5GbG
https://dl.doubtnut.com/l/_oIa9Ry6mCgAh
https://dl.doubtnut.com/l/_h7HJjzrmlQFU


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3COOH

CCl3COOH

CHCl2COOH

CH2ClCOOH

100. The most stable free radical is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⋅
CH3

CH3

⋅
CH2

(CH3)2

⋅
CH

(CH3)3

⋅
C

https://dl.doubtnut.com/l/_h7HJjzrmlQFU
https://dl.doubtnut.com/l/_9TSR5HzbWQlJ


101. The formation of cyanohydrin from a ketone is an example of


nucleophilic substitution


electrophilic substitution


electrophilic addition


nucleophilic addition.

A. nucleophilic substitution

B. electrophilic substitution

C. electrophilic addition

D. nucleophilic addition.

Answer: D

Watch Video Solution

102. Which of the following alkyl halides is hydrolysed by mechanism ?





SN 1

CH3Cl

https://dl.doubtnut.com/l/_9TSR5HzbWQlJ
https://dl.doubtnut.com/l/_LtSGSbQHc397
https://dl.doubtnut.com/l/_ZYOGt6GAzTwx










A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2Cl

CH3CH2CH2Cl

(CH3)3CCl

CH3Cl

CH3CH2Cl

CH3CH2CH2Cl

(CH3)3CCl

103. Which of the following does contain three pairs of electrons ?

A. Carbocation

B. Carbanion

C. Free radical

https://dl.doubtnut.com/l/_ZYOGt6GAzTwx
https://dl.doubtnut.com/l/_YJh0LakrxzxG


D. None of these.

Answer: A

Watch Video Solution

104. Amongst the following, which are true for  reaction ? (i) The rate

of reaction is independent of the concentration of the nucleophile. (ii)

The nucleophile attacks the carbon atom on the side of the molecule

opposite to the group being displaced. (iii) The reaction proceeds with

simultaneous bond formation and bond rupture.

A. (i), (ii)

B. (i), (iii)

C. (i), (ii), (iii)

D. (ii), (iii)

Answer: D

Watch Video Solution

SN 2

https://dl.doubtnut.com/l/_YJh0LakrxzxG
https://dl.doubtnut.com/l/_ejHeQgLq7lce


105. Nucleophiles are __________ while electrophiles are __________ .

A. Lewis acids

B. Lewis bases

C. amphoteric

D. none of these.

Answer: B

Watch Video Solution

106. The + l-effect is shown by

A. 

B. 

C. 

CH3

−OH

F

https://dl.doubtnut.com/l/_ejHeQgLq7lce
https://dl.doubtnut.com/l/_VB081r4hLCi2
https://dl.doubtnut.com/l/_3ZaPhLKZDLDa


D. 

Answer: A

Watch Video Solution

−C6H5

107. Wilkinson's catalyst is

A. Ni

B. 

C. 

D. 

Answer: B

Watch Video Solution

[(C6H5)3P]
3
RhCl

LiAlH4

Fe2O3

https://dl.doubtnut.com/l/_3ZaPhLKZDLDa
https://dl.doubtnut.com/l/_JmnV2zj8EMsU


108. The hardness of water is estimated by 

(a)conductivity method


(b)EDTA method


(c)titrimetric method 

(d)distillation method

A. conductivity method

B. EDTA method

C. titrimetric method

D. distillation method

Answer: B

Watch Video Solution

109. Which of the following is an organometallic compound ?

A. Lithium methoxide

https://dl.doubtnut.com/l/_Ke6NMYcMTF2T
https://dl.doubtnut.com/l/_SNvM1CcdNlJr


B. Lithium acetate

C. Lithium dimethylamide

D. Methyllithium.

Answer: D

Watch Video Solution

110. Which of the following is an organometallic compound ?

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

Ti(C2H5)4

Ti(OC2H5)

Ti(OCOCH3)4

Ti(OC6H5)4

https://dl.doubtnut.com/l/_SNvM1CcdNlJr
https://dl.doubtnut.com/l/_QCDvi7XZy3Np
https://dl.doubtnut.com/l/_RBek2UC3Ncmj


111. In the compound, lithium tetrahydroaluminate, the ligand is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

H +

H

H −

112. Which of the following ligands does form a chelate ?

A. Acetate

B. Oxalate

C. Cyanide

D. Ammonia

https://dl.doubtnut.com/l/_RBek2UC3Ncmj
https://dl.doubtnut.com/l/_CLx4HB0PD50N


Answer: B

Watch Video Solution

113. The geometry of  and  are

A. both square planar

B. tetrahedral and square planar respectively

C. both tetrahedral

D. square planar and tetrahedral respectively.

Answer: C

Watch Video Solution

Ni(CO)4 Ni(PPh3)Cl2

114. Ferrocene is described by the formula

A. [Fe(CN)6]
3 −

https://dl.doubtnut.com/l/_CLx4HB0PD50N
https://dl.doubtnut.com/l/_7Kxkp2PWrAuC
https://dl.doubtnut.com/l/_kssoo85FDiQV


B. 

C. 

D. 

Answer: D

Watch Video Solution

[Fe(CN)6]
4 −

[Fe(CO)5]

[Fe(C5H5)2]

115. Which of the following species is a carbene?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

:CH −
3

:CCl2

CH2 = C = O

R −
⋅
CH − R

https://dl.doubtnut.com/l/_kssoo85FDiQV
https://dl.doubtnut.com/l/_skmyKdPAvh5u
https://dl.doubtnut.com/l/_EhYZkpnLK4Ba


116. In a triplet carbene, the central carbon atom

A. is  hybridised

B. contains a lone pair of electrons

C. forms one o and one bonds with the groups attached

D. contains two unpaired electrons.

Answer: D

Watch Video Solution

sp2

117. Which of the following species does act as an electrophile ?

A. 

B. 

C. 

D. 

H2O

CH3 − O − CH3

⋅
CH3

CH3NH2

https://dl.doubtnut.com/l/_EhYZkpnLK4Ba
https://dl.doubtnut.com/l/_UnuQwB5vv25l


Answer: C

Watch Video Solution

118. The reaction, , is

A. an electrophilic substitution reaction

B. a nucleophilic substitution reaction

C. a free radical substitution reaction

D. an elimination reaction.

Answer: B

Watch Video Solution

RX + OH − → R − OH + X −

119. The reaction  follows

A.  mechanism

CH3Br + OH − → CH3OH + Br−

SN 1

https://dl.doubtnut.com/l/_UnuQwB5vv25l
https://dl.doubtnut.com/l/_hYBrrBeFhFBa
https://dl.doubtnut.com/l/_mgB5J3RjE0bu


B. mechanism

C. either of the above two

D. none of the above two

Answer: B

Watch Video Solution

SN 2

120. An  reaction occurs through the formation of a

A. carbocation

B. carbanion

C. free radical

D. transition state.

Answer: D

Watch Video Solution

SN 2

https://dl.doubtnut.com/l/_mgB5J3RjE0bu
https://dl.doubtnut.com/l/_chaE0UXRcjPt
https://dl.doubtnut.com/l/_Oy4ArHntZTvc


121. The reaction,  occurs through

A. electrophilic substitution

B. nucleophilic substitution

C. free radical substitution

D. none of the above.

Answer: C

Watch Video Solution

CH4 + Cl2
hv

−−→ , CH3Cl + HCl,

122. Which of the following acts as a nucleophile?

A. 

B. 

C. 

D. .

CH3NH2

+

CH3

AlCl3

CH3MgBr

https://dl.doubtnut.com/l/_Oy4ArHntZTvc
https://dl.doubtnut.com/l/_0ZELSXfpFCfq


Answer: A

Watch Video Solution

123. Which of the following has the highest nucleophilicity ?














A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F −

OH −

CH −
3

NH −
2

F −

OH −

CH −
3

NH −
2

https://dl.doubtnut.com/l/_0ZELSXfpFCfq
https://dl.doubtnut.com/l/_KeSEOefC0atw
https://dl.doubtnut.com/l/_4XzBTHfixSDZ


124. The order of reactivities of the following alkyl halides for an 

reaction is:














A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SN 2

RF > RCI > RBr > Rl

RF > RBr > RCl > Rl

RCl > RBr > rF > Rl

Rl > RBr > RF

RF > RCI > RBr > Rl

RF > RBr > RCl > Rl

RCl > RBr > rF > Rl

Rl > RBr > RF

125. Following reaction, 

 is an example of

(CH3)3CBr + H2O → (CH3)3COH + HBr

https://dl.doubtnut.com/l/_4XzBTHfixSDZ
https://dl.doubtnut.com/l/_KPoDsd5FHo3A


elimination reaction


free radical substitution


nucleophilic substitution


electrophilic substitution.

A. elimination reaction

B. free radical substitution

C. nucleophilic substitution

D. electrophilic substitution.

Answer: C

Watch Video Solution

126. Due to the presence of an unpaired electron, free radicals are

A. cations

B. anions

C. chemically inactive

https://dl.doubtnut.com/l/_KPoDsd5FHo3A
https://dl.doubtnut.com/l/_Nwt8zsYxuXoK


D. chemically reactive.

Answer: D

Watch Video Solution

127. The organic chloro compound, which shows complete stereochemical

inversion during a  reaction is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SN 2

(C2H5)2CHCl

(CH3)3CCl

(CH3)2CHCl

CH3Cl

https://dl.doubtnut.com/l/_Nwt8zsYxuXoK
https://dl.doubtnut.com/l/_DIVbYXfKWnFW


128. Which one is a nucleophilic substitution reaction among the

following ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

RCHO + R'Mgx → R − C
∣

OH

H − R

CH3 − CH2 − oevrset(CH3)
∣

CH − CH2Br + NH3 → CH3 − CH2

CH3CHO + HCN → CH3CH(OH)CN

CH3 − CH = CH2 + H2O
H +

−−→ CH3 − C
∣

OH

H − CH3

129. The order of stability of the following carbocations 

 CH2 =
+

C
( I )

H − CH2, CH3 − C
( II )

H2 −
+

CH2

https://dl.doubtnut.com/l/_z425MrnLZfue
https://dl.doubtnut.com/l/_kX4pc9JXaa0N


A. III gt II gt I

B. II gt III gt I

C. I gt II gt III

D. III gt I gt II

Answer: D

Watch Video Solution

130. The correct statement regarding electrophile is

https://dl.doubtnut.com/l/_kX4pc9JXaa0N
https://dl.doubtnut.com/l/_wS6DdffRFvEd


A. Electrophile is a negatively charged species and can form a bond by

accepting a pair of electrons from a nucleophile.

B. Electrophile is a negatively charged species and can form a bond by

accepting a pair of electrons from another electrophile.

C. Electrophiles are generally neutral species and can form a bond by

accepting a pair of electrons from a nucleophile.

D. Electrophile can be either neutral or positively charged species and

can form a bond by accepting a pair of electrons from a

nucleophile.

Answer: D

Watch Video Solution

131. The most suitable method of separation of 1:1 mixture of ortho and

para-nitrophenols is :


sublimation


https://dl.doubtnut.com/l/_wS6DdffRFvEd
https://dl.doubtnut.com/l/_SFGHQSyPdCSD


chromatography


crystallisation


steam distillation

A. sublimation

B. chromatography

C. crystallisation

D. steam distillation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SFGHQSyPdCSD


132. Identify A and predict the type of reaction 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H3lglEe8Uqc4
https://dl.doubtnut.com/l/_LbzS8lhf7CCX


133. The IUPAC name of the compound 

A. 3-keto-2-methylhex-4-enal

B. 5-formylhex-2-en-3-one

C. 5-methyl-4-oxohex-2-en-5-al

D. 3-keto-2-methylhex-5-enal

Answer: A

Watch Video Solution

134. Which of the following is correct with respect to -|-effect of the

substituents? (R = alkyl)

https://dl.doubtnut.com/l/_LbzS8lhf7CCX
https://dl.doubtnut.com/l/_ixcu9Ntpddbg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−NH2 < − OR < − F

−NR2 < − OR < − F

−NH2 > − OR < − F

−NR2 > − OR > − F

135. Which of the following carbocations is expected to be most stable?

A. 

https://dl.doubtnut.com/l/_ixcu9Ntpddbg
https://dl.doubtnut.com/l/_QDLiT75NrhVi


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QDLiT75NrhVi


136. Which of the following compounds will be suitable for Kjeldahl's

method for nitrogen estimation? 

(a) 



(b) 



(c) 



(d)

A. 

https://dl.doubtnut.com/l/_YP6QgQHFOc5S


B. 

C. 

D. 

Answer: B

Watch Video Solution

137. The number of sigma ( ) and pi ( ) bonds in pent-2-en-4-yne is :

A. 11  bonds and 2  bonds

B. 13  bonds and no  bonds

C. 10 bonds and 3  bonds

D. 8  bonds and 5  bonds.

σ π

σ π

σ π

σ π

σ π

https://dl.doubtnut.com/l/_YP6QgQHFOc5S
https://dl.doubtnut.com/l/_Y3rsBDBpgsMs


Answer: C

Watch Video Solution

138. The IUPAC name for the following compound is : 

A. 3, 5-dimethyl-4-propylhept-1-en-6-yne

B. 3-methyl-4-(3-methylprop-1-enyl)-1-heptyne

C. 3-methyl-4-(1-methylprop-2-enyl)-1-heptene

D. 3, 5-dimethyl-4-propylhept-6-en-1-yne.

Answer: A

https://dl.doubtnut.com/l/_Y3rsBDBpgsMs
https://dl.doubtnut.com/l/_hrn5SA68xcLE


Watch Video Solution

139. Increasing order of reactivity of the following compounds for 

substitution is : 

A. (A) <(B)<(D) <(C)

B. (B) <(C) <(D) < (A)

C. (B) < (C) < (A) < (D)

D. (B) < (A) < (D) < (C).

Answer: D

Watch Video Solution

SN 1

https://dl.doubtnut.com/l/_hrn5SA68xcLE
https://dl.doubtnut.com/l/_8uxmXOaP4dl7
https://dl.doubtnut.com/l/_BxZ47e4PaRVU


140. Which of the following is potential energy diagram for  reaction?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_BxZ47e4PaRVU


141. The correct IUPAC name of the following compound is : 

A. 5-chloro-4-methyl-1-nitrobenzene

B. 2-chloro-1-methyl-4-nitrobenzene

C. 2-methyl-5-nitro-1-chlorobenzene

D. 3-chloro-4-methyl-1-nitrobenzene.

https://dl.doubtnut.com/l/_6L4L0pfwJRkv


True Or False Type Questions

Answer: B

Watch Video Solution

142. The  name of the following compound is: 


A. 4,4-dimethyl-3-hydroxybutanoic acid

B. 2-methyl-3-hydroxypentan-5-oic acid

C. 4-methyl-3-hydroxypentanoic acid

D. 3-hydroxy-4-methylpentanoic acid.

Answer: D

Watch Video Solution

IUPAC

H3C −

CH3

∣

C H −

OH

∣

C H − CH2 − COOH

https://dl.doubtnut.com/l/_6L4L0pfwJRkv
https://dl.doubtnut.com/l/_GVzZ54buqx5O
https://dl.doubtnut.com/l/_JBw9DbA7EN9S


1. The property of catenation is shown by silicon also but it is much less

pronounced as compared to that shown by carbon.

Watch Video Solution

2. Organic reactions are generally ionic in nature.

Watch Video Solution

3. Organic compounds exhibit isomerism due to the presence of rigid and

directional covalent bonds.

Watch Video Solution

4. Open chain compounds are also known as alicyclic compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_JBw9DbA7EN9S
https://dl.doubtnut.com/l/_ZSRKXq2iIkYy
https://dl.doubtnut.com/l/_EhVKM6nDDXdl
https://dl.doubtnut.com/l/_eftIkkgAkf38


5. The behaviour of alicyclic compounds is similar to those of aliphatic

compounds.

Watch Video Solution

6. The compound  contains two  and one 

carbon atoms.

Watch Video Solution

CH3 − CH2 − CH3 1∘ 2∘

7. Propane forms only one alkyl group.

Watch Video Solution

8. The IUPAC name of the compound  is 2-

ethylpropane.

Watch Video Solution

CH3 − C
।

C2H5

H − CH3

https://dl.doubtnut.com/l/_IHpYEa1TOQ1H
https://dl.doubtnut.com/l/_KJFNRcmROlzy
https://dl.doubtnut.com/l/_mArEL6ooOBJM
https://dl.doubtnut.com/l/_1UBczyEaaoYo


9. Para disubstituted derivatives of benzene are 1, 4-derivatives.

Watch Video Solution

10. The principal functional group is indicated by adding a specific suffix

to the word root.

Watch Video Solution

11. Presence of double bond in a compound is indicated by adding a prefix

to the word root.

Watch Video Solution

12.  group is placed higher as compared to -OH group in the

seniority table for functional groups.

−NH2

https://dl.doubtnut.com/l/_1UBczyEaaoYo
https://dl.doubtnut.com/l/_CgOX15i2wLLc
https://dl.doubtnut.com/l/_GEZUmMq8vXv1
https://dl.doubtnut.com/l/_xL8s8kVqMaJY
https://dl.doubtnut.com/l/_MBxRQSyZftH0


Watch Video Solution

13. 1-bromobutane and 1-bromo-2-methylpropane are chain isomers.

Watch Video Solution

14. Propanal and propan-2-one are metamers.

Watch Video Solution

15. Propane shows chain isomerism.

Watch Video Solution

16. The two tautomeric forms of a substance are equally stable.

Watch Video Solution

https://dl.doubtnut.com/l/_MBxRQSyZftH0
https://dl.doubtnut.com/l/_2d4QxQxkYZex
https://dl.doubtnut.com/l/_m6tVFtxZ1Tdq
https://dl.doubtnut.com/l/_8wU3xyZDvmQa
https://dl.doubtnut.com/l/_bUl2pUO8dbNw
https://dl.doubtnut.com/l/_sU17FiJRrDNT


17. 1,2-dibromoethene shows geometrical isomerism.

Watch Video Solution

18. Which of the following compounds will exhibit cis-trans (geometrical)

isomerism?

Watch Video Solution

19. Explain why cis-isomer is less stable as compared to trans isomer

Watch Video Solution

20. The letter P is chiral in nature.

Watch Video Solution

https://dl.doubtnut.com/l/_sU17FiJRrDNT
https://dl.doubtnut.com/l/_9gTY2LO4UdVB
https://dl.doubtnut.com/l/_GDR1HSLBihNy
https://dl.doubtnut.com/l/_ODn5uaDfMtbk


21. The stereoisomers which are superimposable mirror images of each

other are called enantiomers.

Watch Video Solution

22. A molecule having a plane of symmetry is a chiral molecule.

Watch Video Solution

23. The net optical rotation of a racemic mixture is zero due to external

compensation. True/False

Watch Video Solution

24. An asymmetric carbon atom is a chiral centre.

Watch Video Solution

https://dl.doubtnut.com/l/_0krvquOZIerR
https://dl.doubtnut.com/l/_DDrt8xQLBNgv
https://dl.doubtnut.com/l/_hbjWBHiK0QuA
https://dl.doubtnut.com/l/_4RUyLaauXCq2
https://dl.doubtnut.com/l/_zDhXJASBa0z1


25. Enantiomers may possess different rates of reactions with other

optically active compounds.

Watch Video Solution

26. Do Diastereoisomers have similar physical properties?

Watch Video Solution

27.  gives a white precipitate when treated with .

Watch Video Solution

CCl4 AgNO3

28. When a drop of water is added to anhydrous , it turns blue.

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_zDhXJASBa0z1
https://dl.doubtnut.com/l/_7JU4iu7iw4xu
https://dl.doubtnut.com/l/_4LAu53jU8oM7
https://dl.doubtnut.com/l/_DqtisMpgQqn2


29. In Lassaigne's test, if both N and S are present in the organic

compound, they are converted to___

Watch Video Solution

30. In chloroform layer test, chlorine water acts as an oxidising

agent.True/False

Watch Video Solution

31. In Duma's method, nitrogen is estimated as .

Watch Video Solution

NH3

32. Schiff's nitrometer used in Duma's method contains a KOH solution

over mercury.

Watch Video Solution

https://dl.doubtnut.com/l/_mcEhtRx1Tdve
https://dl.doubtnut.com/l/_JgdjXye7ylSu
https://dl.doubtnut.com/l/_KxV9gBWML0wN
https://dl.doubtnut.com/l/_fWuyMD5i6zmX


33. Why does vanadium pentoxide acts as a catalyst?

Watch Video Solution

34. One gram equivalent of a weak acid is unable to completely neutralise

one gram equivalent of a strong base.

Watch Video Solution

35. Phosphorus is estimated as  in an organic compound.

Yes/No?

Watch Video Solution

Mg3(PO4)2

36. Victor Meyer's method for determination of molecular mass is

applicable only to volatile organic compounds.

W h Vid S l i

https://dl.doubtnut.com/l/_fWuyMD5i6zmX
https://dl.doubtnut.com/l/_Vhl27VKMivKu
https://dl.doubtnut.com/l/_VrdSLPrOUhwG
https://dl.doubtnut.com/l/_PjrU6oAnULB4
https://dl.doubtnut.com/l/_hLuOAcu6dqHk


Watch Video Solution

37. How is the molecular formula of a compound related to its empirical

formula ?

Watch Video Solution

38. Chloroplatinate salts are very stable and do not decompose on

heating.

Watch Video Solution

39. -group causes - l-effect when present in a saturated chain of

carbon atoms.

Watch Video Solution

C6H5

https://dl.doubtnut.com/l/_hLuOAcu6dqHk
https://dl.doubtnut.com/l/_GG9JVUWDjAsj
https://dl.doubtnut.com/l/_8sIi78uiRVBr
https://dl.doubtnut.com/l/_LfJHjdLFaNIc


40.  alkyl groups cause greater + l-effect as compared to  alkyl

groups. True/False.

Watch Video Solution

1∘ 2∘

41. Electromeric effect is a .......... effect and involves transfer of ..........

electrons of a multiple bond.

Watch Video Solution

42. Mesomeric effect is a temporary effect. True or False.

Watch Video Solution

43. Mesomeric effect involves delocalisation of pi-electrons of all the

double bonds present in a conjugated system.

Watch Video Solution

https://dl.doubtnut.com/l/_4R1huMzZJubG
https://dl.doubtnut.com/l/_K2OUwwMTfqjA
https://dl.doubtnut.com/l/_K0MfxRMOI3eJ
https://dl.doubtnut.com/l/_iPmBAVYy86nO


44. Hyperconjugation effect comes into existence when a C-H bond is

present at Beta-position to a double bond.

Watch Video Solution

45. The central carbon in a free radical is  hybridised.

Watch Video Solution

sp3

46. Carbocations are planar species.

Watch Video Solution

47. The reactivity of carbanions follows the order  .

Watch Video Solution

3∘ > 2∘ > 1∘

https://dl.doubtnut.com/l/_iPmBAVYy86nO
https://dl.doubtnut.com/l/_q1elBSusu3eZ
https://dl.doubtnut.com/l/_gZFIt3pvgvlw
https://dl.doubtnut.com/l/_jmsnhoe3OqqA
https://dl.doubtnut.com/l/_xhnbaipOLz0P
https://dl.doubtnut.com/l/_laIFiUyW4SpR


Fill In The Blank Type Questions

48. What is the state of hybridisation of the central carbon in a

carbocation ?

Watch Video Solution

49. Electrophiles are Lewis acids.

Watch Video Solution

50. Explain why does a  reaction involve an inversion in configuration.

Watch Video Solution

SN 2

1. In the laboratory, urea was first prepard by heating .........

Watch Video Solution

https://dl.doubtnut.com/l/_laIFiUyW4SpR
https://dl.doubtnut.com/l/_oWIoHYdSHVzj
https://dl.doubtnut.com/l/_94A2OjXPTIJX
https://dl.doubtnut.com/l/_O8T7SdviXipR


2. Organic compounds are ............... in nature and possess ........ melting and

boiling points.

Watch Video Solution

3. Unsaturated hydrocarbons are the compounds of ............... and

...............and contain one or more ............... bonds.

Watch Video Solution

4. The neopentane contains .... ...........  and ...............  carbon atoms.

Watch Video Solution

1∘ 4∘

5. The functional group present in nitriles is .......

Watch Video Solution

https://dl.doubtnut.com/l/_O8T7SdviXipR
https://dl.doubtnut.com/l/_TH2KwNd1VBME
https://dl.doubtnut.com/l/_pTx75TQIsjvV
https://dl.doubtnut.com/l/_S4qImvT0dAWV
https://dl.doubtnut.com/l/_JGMOOCKMBVxX


6. In a homologous series, two successive members differ by a ..............

group and a molecular mass of ............ amu.

Watch Video Solution

7. The IUPAC name of tertiary butyl chloride is

Watch Video Solution

8. The IUPAC name of formic acid is .......

Watch Video Solution

9. The functional group present in thioalcohols is……….

Watch Video Solution

https://dl.doubtnut.com/l/_fXWRp91Abdtg
https://dl.doubtnut.com/l/_BrKCDBHLddy5
https://dl.doubtnut.com/l/_15DkYt4v9Gd2
https://dl.doubtnut.com/l/_F1vVIRvkbO2K


10. The IUPAC name of  is

Watch Video Solution

CH3 − C
।
OH

H − CH2 − CH3

11. IUPAC name of the compound is .......

Watch Video Solution

12. When two or more compounds having the same molecular formula

differ in physical or chemical properties, the phenomenon is known as

https://dl.doubtnut.com/l/_ZWhhZrTI5e5H
https://dl.doubtnut.com/l/_dbekEFCUbV58
https://dl.doubtnut.com/l/_0GcWgCchCFgM


......... and such compounds are called ...

Watch Video Solution

13. Chain isomerism is also referred to as ......... isomerism.

Watch Video Solution

14. Butan-1-ol and 2-methylpropan-1-ol differ in their ......skeletons and

show ......... isomerism.

Watch Video Solution

15. Pentane has ......... chain isomers.

Watch Video Solution

https://dl.doubtnut.com/l/_0GcWgCchCFgM
https://dl.doubtnut.com/l/_JpXyVnxRv63y
https://dl.doubtnut.com/l/_MHYN5SpbeA5r
https://dl.doubtnut.com/l/_oEeQqgwQ5keZ


16. The ring-chain isomers possible with the molecular formula  are

......... and ........

Watch Video Solution

C3H6

17. In tautomerism, the two tautomeric forms continuously change into

each other through the oscillation of

Watch Video Solution

18. Maleic acid and fumaric acid are ......... isomers.

Watch Video Solution

19. The main cause of geometrical isomerism is the ... carbon atoms about

a ......... bond.

Watch Video Solution

https://dl.doubtnut.com/l/_adZ5c5HWZeST
https://dl.doubtnut.com/l/_C5mPD3O6A39s
https://dl.doubtnut.com/l/_NeDCXuxQfy57
https://dl.doubtnut.com/l/_QjshTn4XJJVZ


20. The geometrical isomers have ......... but not chemical properties.

Watch Video Solution

21. Plane polarised light is obtained by passing the ordinary light through

.........

Watch Video Solution

22. Molecules whose mirror image is non-superimposable over them are

known as chiral. Which of the following molecules is chiral in nature?

Watch Video Solution

23. When is a molecule said to be dissymmetric ? Give a brief account of

the elements of symmetry.

W h Vid S l i

https://dl.doubtnut.com/l/_QjshTn4XJJVZ
https://dl.doubtnut.com/l/_qp8C2Spc5tgT
https://dl.doubtnut.com/l/_EeytAnEv2KZp
https://dl.doubtnut.com/l/_JkOAu0MYXM11
https://dl.doubtnut.com/l/_XYQDsH48PlZN


Watch Video Solution

24. The process of separation of a recemic mixture into d- and 1-

components is called .........

Watch Video Solution

25. The net optical rotation of meso-tartaric acid is ......... due to ........

compensation.

Watch Video Solution

26. Prussian blue is ........

Watch Video Solution

27. When an organic compound contains a halogen along with N and S,

halogen can be tested only after boiling the sodium extract with ..........

https://dl.doubtnut.com/l/_XYQDsH48PlZN
https://dl.doubtnut.com/l/_AG0tP8k0R4da
https://dl.doubtnut.com/l/_DZexWLdcBcTh
https://dl.doubtnut.com/l/_q8jiOJHclSKy
https://dl.doubtnut.com/l/_bDQKIaizN5h9


Watch Video Solution

28. The yellow precipitate obtained in the detection of phosphorus is .........

Watch Video Solution

29. In the estimation of nitrogen by Kjeldahl's method, the compound is

heated with ............ in presence of .............

Watch Video Solution

30. In the estimation of sulphur by Carius method, sulphur is oxidised to

............ which is precipitated as ............ by addition of ......

Watch Video Solution

https://dl.doubtnut.com/l/_bDQKIaizN5h9
https://dl.doubtnut.com/l/_qgyushxPkfYd
https://dl.doubtnut.com/l/_WwwhnA3592lg
https://dl.doubtnut.com/l/_CsmMpFl6ko46


31. Victor Meyer's method makes use of the fact that ............ gram mole of a

substance in gaseous state occupies a volume of ............ cc at S.T.P.

Watch Video Solution

32. Molecular mass of an acid = Equivalent mass x ......

Watch Video Solution

33. Inductive effect involves

Watch Video Solution

34. The + l-effect of alkyl groups is in the order ........ ........

Watch Video Solution

> 2∘ >

https://dl.doubtnut.com/l/_AWBxuJeQXQmm
https://dl.doubtnut.com/l/_xavJkMIXyR95
https://dl.doubtnut.com/l/_evttqgruggdP
https://dl.doubtnut.com/l/_q9wh6rh5165J


35. Electromeric effect is a .......... effect and involves transfer of ..........

electrons of a multiple bond.

Watch Video Solution

36. Among , the group causing + M-effect is ..........

group.

Watch Video Solution

−OH and > C = 0

37. Why is a 3 free radical more stable as compared to  and  free

radicals?

Watch Video Solution

1∘ 2∘

38. The central carbon in a carbocation is .......... hybridised.

Watch Video Solution

https://dl.doubtnut.com/l/_xZ8tu99X203L
https://dl.doubtnut.com/l/_sw2CPfjj4iae
https://dl.doubtnut.com/l/_BkLXAJBgSeOx
https://dl.doubtnut.com/l/_IRP4tTfpINJA


39. What are carbocations ? Discuss their orbital structure and explain

the relative order of the stability of various types of carbocations.

Watch Video Solution

40. In a singlet carbene, the lone pair of electrons is present in a

..........hybridised orbital.

Watch Video Solution

41. Free radicals and carbenes act as .......... philic reagents.

Watch Video Solution

42. Nucleophiles are Lewis .......... and possess .......... pair of electrons.

Watch Video Solution

https://dl.doubtnut.com/l/_IRP4tTfpINJA
https://dl.doubtnut.com/l/_6JdhQBtceJG4
https://dl.doubtnut.com/l/_6WFp9ZNrgmGM
https://dl.doubtnut.com/l/_7sWd8uaUdGZw
https://dl.doubtnut.com/l/_UUhHfxTVbSiu


43. What is molarity?

Watch Video Solution

44. What is the optical nature of the product obtained in an  reaction

if the substrate is optically active ?

Watch Video Solution

SN 1

45. The Friedel-Crafts methylation of benzene involves ..........

Watch Video Solution

46. Addition of bromine to ethylene is .......... addition reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_UUhHfxTVbSiu
https://dl.doubtnut.com/l/_dDyr16plDkhJ
https://dl.doubtnut.com/l/_8zy1jkwV4qSx
https://dl.doubtnut.com/l/_rgsHc9mxIkKM
https://dl.doubtnut.com/l/_4OXF7WAlYqa6


Assertion Reason Type Questions

1. Assertion: -  carbocations are more stable than  and 

carbocations. 

Reason :- The+I effect of alkyl groups decreases the magnitude of positive

charge to the maximum possible extent in a  carbocation

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: A

Watch Video Solution

3∘ 1∘ 2∘

3∘

https://dl.doubtnut.com/l/_sCacI8Z4hPQF


2. Assertion: -The addition of HCl to unsymmetrical alkenes in the

presence of organic peroxides takes place against Markownikoff's rule. 

Reason :-  free radicals are more stable than  free radicals.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: D

Watch Video Solution

2∘ 1∘

3. Assertion: -But-1-ene on reaction with HBr in the presence of a peroxide

produces 1-bromobutane. 

https://dl.doubtnut.com/l/_kqVGIdrXsqhk
https://dl.doubtnut.com/l/_yJlR7alCDcwY


Reason :-It involves the formation of a primary radical.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: C

Watch Video Solution

4. Assertion : Addition of bromine to trans-but-2-ene yields meso-2,3-

dibromobutane. 

Reason : Bromine addition to an alkene is a nucleophilic addition


(a) If both Assertion and Reason are CORRECT and Reason is the CORRECT

explanation of the Assertion.


https://dl.doubtnut.com/l/_yJlR7alCDcwY
https://dl.doubtnut.com/l/_dshs5kGTnIFi


(b) If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.


(c) I Assertion is CORRECT but Reason is INCORRECT.


(d)I Assertion is CORRECT but Reason is INCORRECT.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: B

Watch Video Solution

5. Assertion: -  acts as an electrophile. 


Reason :-The carbon atom in  is in a state of  hybridisation.

⋅
CH3

⋅
CH3 sp2

https://dl.doubtnut.com/l/_dshs5kGTnIFi
https://dl.doubtnut.com/l/_frq747xlgyf6


A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_frq747xlgyf6


6. Assertion: -

No and do not represent the resonance structures. 

Reason :-The two structures involve a change in the position of atoms,

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: A

https://dl.doubtnut.com/l/_aIBfg8qcD6F4


Watch Video Solution

7. Assertion: - In a fractionating column, the processes of evaporation and

condensation occur automatically several times. 

Reason :-A fractionating column is provided with obstructions to the

passage of vapours upwards and to the liquid downwards.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aIBfg8qcD6F4
https://dl.doubtnut.com/l/_I9B8uTRPptvF
https://dl.doubtnut.com/l/_W070Uxa0hqck


8. Assertion: - The mixture of steam with an organic liquid boils at a

temperature much lower than the boiling points of organic liquid and

water. 

Reason :- The mixture of steam and an organic liquid is completely

immiscible. For such a system, the total vapour pressure is equal to the

sum of the individual vapour pressure of water and the liquid.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_W070Uxa0hqck


9. Assertion: - Higher the  value of a substance, greater is the time

taken by it for elution. 

Reason :- The time taken by a substance for elution is greater when it is

adsorbed more strongly on the adsorbent.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: D

Watch Video Solution

Rf

https://dl.doubtnut.com/l/_bjcVWFk26rqk


10. Explain why : 

A blood red colouration is obtained on addition of to Lassaigne's

solution when the compound contains both N and S.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: C

Watch Video Solution

FeCl3

11. Assertion: - In mass spectrometry, the molecular ion peak gives the

molecular mass of the compound. 

https://dl.doubtnut.com/l/_1U1HYadtQgVx
https://dl.doubtnut.com/l/_2xFnIJbCiykB


Ncert Text Book Exercises With Hints And Solutions

Reason :-The molecular mass of the molecular ion is the same as that of

the compound taken.

A. If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. If Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: A

Watch Video Solution

1. What are hybridisation states of each carbon atom in the following

compounds? 

https://dl.doubtnut.com/l/_2xFnIJbCiykB
https://dl.doubtnut.com/l/_oCpYs2JpUwWt


Watch Video Solution

CH2 = C = O, CH3CH = CH2(CH3)2CO, CH2 = CHCN, C6H6

2. Indicate the  and  bonds in the following molecules: 


Watch Video Solution

σ π

C6H6, C6H12, CH2Cl2, CH2 = C = CH2, CH3NO2, HCNHCH3

3. Write bond line formulas for : 2, 3-dimethyl butanal, Heptan-4-one.

Watch Video Solution

https://dl.doubtnut.com/l/_oCpYs2JpUwWt
https://dl.doubtnut.com/l/_281ylTj3cWsR
https://dl.doubtnut.com/l/_7xcYj6eU3fkx


4. Give the I.U.P.A.C. names of the following compounds: 

Watch Video Solution

5. Give the I.U.P.A.C. names of the following compounds: 

Watch Video Solution

https://dl.doubtnut.com/l/_4luwJUPqXnUh
https://dl.doubtnut.com/l/_a76mB1LdYEVa


6. Give the I.U.P.A.C. names of the following compounds: 

Watch Video Solution

7. Give the I.U.P.A.C. names of the following compounds: 

Watch Video Solution

https://dl.doubtnut.com/l/_JodIeC3wb3GL
https://dl.doubtnut.com/l/_hk6T0tRoW6rR


8. Give the I.U.P.A.C. names of the following compounds: 

Watch Video Solution

9. Give the I.U.P.A.C. names of the following compounds: 

Watch Video Solution

Cl2CHCH2OH

10. Which of the following represents the correct I.U.P.A.C. name for the

compounds concerned? 

https://dl.doubtnut.com/l/_TbPc9gTIQcr5
https://dl.doubtnut.com/l/_KCyDyaALEE4Y
https://dl.doubtnut.com/l/_s1Z0vkRvqzkW


2,2-dimethylpentane or 2-dimethylpentane

Watch Video Solution

11. Which of the following represents the correct I.U.P.A.C. name for the

compounds concerned? 

2,2-dimethylpentane or 2-dimethylpentane

Watch Video Solution

12. Which of the following represents the correct I.U.P.A.C. name for the

compounds concerned? 

2-chloro-4-methylpentane or 4-chloro-2-methylpentane

Watch Video Solution

13. Which of the following represents the correct I.U.P.A.C. name for the

compounds concerned? 

https://dl.doubtnut.com/l/_s1Z0vkRvqzkW
https://dl.doubtnut.com/l/_dsoxswD6w3ec
https://dl.doubtnut.com/l/_XkHZKfoZpTA8
https://dl.doubtnut.com/l/_gN8iDW7xKXFI


But-3-yn-1-ol or But-4-ol-l-yne.

Watch Video Solution

14. Draw formulas for the first five members of each homologous series

beginning with the following compounds : 

Watch Video Solution

H − COOH

15. Draw formulas for the first five members of each homologous series

beginning with the following compounds : 

Watch Video Solution

CH3COCH3

16. Draw formulas for the first five members of each homologous series

beginning with the following compounds.  (b) (a)H– COOH

https://dl.doubtnut.com/l/_gN8iDW7xKXFI
https://dl.doubtnut.com/l/_hoElFPtf6caW
https://dl.doubtnut.com/l/_QVjY9D9Geg9J
https://dl.doubtnut.com/l/_8ubRY82E2byY


 (c) 

Watch Video Solution

CH3COCH3 H– CH = CH2

17. Give condensed and bond line structural formulas and identify the

functional group(s) present, if any, for : 

(a) 2,2,4-Trimethylpentane 

(b) 2-Hydroxy-1,2,3-propanetricarboxylic acid 

(c) Hexanedial

Watch Video Solution

18. Give condensed and bond line structural formulas and identify the

functional group(s) present, if any, for : 

(a) 2,2,4-Trimethylpentane 

(b) 2-Hydroxy-1,2,3-propanetricarboxylic acid 

(c) Hexanedial

Watch Video Solution

https://dl.doubtnut.com/l/_8ubRY82E2byY
https://dl.doubtnut.com/l/_RERdthPcGbur
https://dl.doubtnut.com/l/_uyfsxKnNsKRx


19. Give condensed and bond line structural formulas and identify the

functional group(s) present, if any, for : 

(a) 2,2,4-Trimethylpentane 

(b) 2-Hydroxy-1,2,3-propanetricarboxylic acid 

(c) Hexanedial

Watch Video Solution

https://dl.doubtnut.com/l/_uyfsxKnNsKRx
https://dl.doubtnut.com/l/_0PUOruuPwNGL


20. Identify the functional groups is the following compounds: 

Watch Video Solution

https://dl.doubtnut.com/l/_lFudt8LOEe32


21. Identify the functional groups is the following compounds: 

Watch Video Solution

https://dl.doubtnut.com/l/_mkq5VbPfMo7p


22. Identify the functional groups is the following compounds: 

Watch Video Solution

23. Which of the two:  or  is expected to

be more stable and why ?

Watch Video Solution

O2NCH2CH2O
– CH3CH2O

–

24. Explain why alkyl groups act as electron donors when attached to a n

system

https://dl.doubtnut.com/l/_u6CL0q1mfJ49
https://dl.doubtnut.com/l/_yDSKSjqdiFRt
https://dl.doubtnut.com/l/_pjXhgocIHJTw


Watch Video Solution

25. Draw the resonance structures for the following compounds. Show

the electron shift using curved-arrow notation. 

Watch Video Solution

C6H5OH

26. Draw the resonance structures for the following compounds. Show

the electron shift using curved-arrow notation. 

Watch Video Solution

C6H5NO2

27. Draw the resonance structures for the following compounds. Show

the electron shift using curved-arrow notation. 

W t h Vid S l ti

CH3CH = CHCHO

https://dl.doubtnut.com/l/_pjXhgocIHJTw
https://dl.doubtnut.com/l/_2QWpZTU7jF0r
https://dl.doubtnut.com/l/_V9WOxjtOuL5E
https://dl.doubtnut.com/l/_c3ufkGaL0mV9


Watch Video Solution

28. Draw the resonance structures for the following compounds. Show

the electron shift using curved-arrow notation. 

Watch Video Solution

C6H5 − CHO

29. Draw the resonance structures for the following compounds. Show

the electron shift using curved-arrow notation. 

Watch Video Solution

C6H5 −
+

CH2

30. Draw the resonance structures for the following compounds. Show

the electron shift using curved-arrow notation. 

Watch Video Solution

CH3CH = CH
+

CH2

https://dl.doubtnut.com/l/_c3ufkGaL0mV9
https://dl.doubtnut.com/l/_wW0jxdAcmgqV
https://dl.doubtnut.com/l/_x2VLzL0zslfO
https://dl.doubtnut.com/l/_jwNMTtJUwfCX


31. What are electrophiles and nucleophiles ? Explain with examples.

Watch Video Solution

32. Identify the reagents shown in bold in the following equations as

nucleophiles or electrophiles : 

Watch Video Solution

CH3COOH + HO− → CH3COO
− + H2O

33. Identify the reagents shown in bold in the following equations as

nucleophiles or electrophiles : 

Watch Video Solution

CH3COCH3 + ¯̄̄CN → (CH3)2(CN)(OH)

https://dl.doubtnut.com/l/_jwNMTtJUwfCX
https://dl.doubtnut.com/l/_qhlViIvvQpUp
https://dl.doubtnut.com/l/_DVNV5kGN06N9
https://dl.doubtnut.com/l/_zeJyKwkHhcag


34. Identify the reagents shown in bold in the following equations as

nucleophiles or electrophiles : 

Watch Video Solution

C6H5 + CH3

+

CO → C6H5COCH3

35. Classify the following reactions in one of the reaction type studied in

this unit. 

Watch Video Solution

CH3CH2Br + HS − → CH3CH2SH

36. Classify the following reactions in one of the reaction type studied in

this unit. 

Watch Video Solution

CH3CH2Br + HO− → CH2 = CH2 + H2O + Br−

https://dl.doubtnut.com/l/_GmnCZy4Yb2db
https://dl.doubtnut.com/l/_a716xbltturl
https://dl.doubtnut.com/l/_2Hu5cobI8sOg
https://dl.doubtnut.com/l/_18MYGDc3xcx3


37. Identify the following reactions as either oxidation or reduction :
Cl
+

e
→
Cl
−

Watch Video Solution

38. What is Electrophiles?

Watch Video Solution

39. What is the relationship between the members of following pairs of

structures? Are they structural or geometrical isomers or resonance

contributors? 

Watch Video Solution

https://dl.doubtnut.com/l/_18MYGDc3xcx3
https://dl.doubtnut.com/l/_iyigmp0QFSeN
https://dl.doubtnut.com/l/_QrNWjmewA6tl


40. What is the relationship between the members of following pairs of

structures? Are they structural or geometrical isomers or resonance

contributors? 

Watch Video Solution

41. What is the relationship between the members of following pairs of

structures? Are they structural or geometrical isomers or resonance

contributors? 

Watch Video Solution

H −

+

OH

∣ ∣

C − OH   H −

OH

∣

C + − OH

https://dl.doubtnut.com/l/_ogbpUmpc65wi
https://dl.doubtnut.com/l/_FX4ZAPjo4QwX


42. For the following bond cleavages, use curved-arrows to show the

electron flow and classify each as homolysis or heterolysis. Identify

reactive intermediate produced as free radical, carbocation and

carbanion. 

 


Watch Video Solution

https://dl.doubtnut.com/l/_q05KnM3lv5LQ


43. For the following bond cleavages, use curved-arrows to show the

electron flow and classify each as homolysis or heterolysis. Identify

reactive intermediate produced as free radical, carbocation and

carbanion. 

Watch Video Solution

44. For the following bond cleavages, use curved-arrows to show the

electron flow and classify each as homolysis or heterolysis. Identify

reactive intermediate produced as free radical, carbocation and

carbanion. 

https://dl.doubtnut.com/l/_WPeN0AmeKjID
https://dl.doubtnut.com/l/_IGIESNUF2QGz


 


Watch Video Solution

45. For the following bond cleavages, use curved-arrows to show the

electron flow and classify each as homolysis or heterolysis. Identify

reactive intermediate produced as free radical, carbocation and

carbanion. 

https://dl.doubtnut.com/l/_IGIESNUF2QGz
https://dl.doubtnut.com/l/_Pa4eYEUxvKSG


 


Watch Video Solution

46. Explain the terms Inductive and Electromeric effects. Which electron

displacement effect explains the following correct orders of acidity of the

carboxylic acids? 

(a)  


(b) 

Cl3CCOOH > Cl2CHCOOH > ClCH2COOH

CH3CH2COOH > (CH3)2CHCOOH > (CH3)3C. COOH

https://dl.doubtnut.com/l/_Pa4eYEUxvKSG
https://dl.doubtnut.com/l/_Cywfa1likKjM


Watch Video Solution

47. Explain the terms Inductive and Electromeric effects. Which electron

displacement effect explains the following correct orders of acidity of the

carboxylic acids? 

(a)  


(b) 

Watch Video Solution

Cl3CCOOH > Cl2CHCOOH > ClCH2COOH

CH3CH2COOH > (CH3)2CHCOOH > (CH3)3C. COOH

48. Give a brief description of the principles of the following techniques

taking an example in each case. 

(a) Crystallisation (b) Distillation (c) Chromatography

Watch Video Solution

49. Give a brief description of the principles of the following techniques

taking an example in each case. 

https://dl.doubtnut.com/l/_Cywfa1likKjM
https://dl.doubtnut.com/l/_WTuNxUA5Hf0H
https://dl.doubtnut.com/l/_VZGTLED9MXgK
https://dl.doubtnut.com/l/_MYneN7nuD1PP


(a) Crystallisation (b) Distillation (c) Chromatography

Watch Video Solution

50. Give a brief description of the principles of the following techniques

taking an example in each case. 

(a) Crystallisation (b) Distillation (c) Chromatography

Watch Video Solution

51. Describe the method, which can be used to separate two compounds

with different solubilities in a solvent S.

Watch Video Solution

52. What is the difference between distillation, distillation under reduced

pressure and steam distillation ?

Watch Video Solution

https://dl.doubtnut.com/l/_MYneN7nuD1PP
https://dl.doubtnut.com/l/_wVEcBCgfJE5P
https://dl.doubtnut.com/l/_b3s6XLyytpIp
https://dl.doubtnut.com/l/_qL0vua3PoWoz


53. Discuss the chemistry of Lassaigne’s test.

Watch Video Solution

54. Differentiate between the principle of estimation of nitrogen in an

organic compound by (i) Dumas method and (ii) Kjeldahl’s method.

Watch Video Solution

55. Discuss the principle of estimation of halogens, sulphur and

phosphorus present in an organic compound.

Watch Video Solution

56. Explain the principle of paper chromatography.

Watch Video Solution

https://dl.doubtnut.com/l/_qL0vua3PoWoz
https://dl.doubtnut.com/l/_a8r0Ctl8PfOw
https://dl.doubtnut.com/l/_BMTEeueb3hy8
https://dl.doubtnut.com/l/_2pqaGWy1IGD0
https://dl.doubtnut.com/l/_9YlSJgl6RuIo


57. Why is nitric acid added to sodium extract before adding silver nitrate

for testing halogens?

Watch Video Solution

58. Explain the reason for the fusion of an organic compound with

metallic sodium for testing nitrogen, sulphur and halogens.

Watch Video Solution

59. Name a suitable technique of separation of the components from a

mixture of calcium sulphate and camphor.

Watch Video Solution

60. Explain, why an organic liquid vaporises at a temperature below its

boiling point in its steam distillation ?

https://dl.doubtnut.com/l/_9YlSJgl6RuIo
https://dl.doubtnut.com/l/_fSY67aJbuDYK
https://dl.doubtnut.com/l/_3SqJkgvDjE37
https://dl.doubtnut.com/l/_i6If53uaA8Fm
https://dl.doubtnut.com/l/_AqawHRKi94Ya


Watch Video Solution

61. Will  give white precipitate of AgCl on heating it with silver

nitrate? Give reason for your answer.

Watch Video Solution

CCl4

62. Why is a solution of potassium hydroxide used to absorb carbon

dioxide evolved during the estimation of carbon present in an organic

compound?

Watch Video Solution

63. Why is it necessary to use acetic acid and not sulphuric acid for

acidification of sodium extract for testing sulphur by lead acetate test?

Watch Video Solution

https://dl.doubtnut.com/l/_AqawHRKi94Ya
https://dl.doubtnut.com/l/_BuaqwRQscZs3
https://dl.doubtnut.com/l/_aaz9tZAKKWwv
https://dl.doubtnut.com/l/_gqAEpQVZG3h1
https://dl.doubtnut.com/l/_TbI27wX9qMMB


64. An organic compound contains 69% carbon and 4.8% hydrogen, the

remainder being oxygen. Calculate the masses of carbon dioxide and

water produced when 0.20 g of this substance is subjected to complete

combustion.

Watch Video Solution

65. A sample of 0.50 g of an organic compound was treated according to

Kjeldahl's method. The ammonia evolved was absorbed in 50 mL of 0.5 M

. The residual acid required 60 mL of 0.5 M solution of NaOH for

neutralisation. What would be the percentage composition of nitrogen in

the compound?

Watch Video Solution

H2SO4

66. 0.3780 g of an organic chloro compound gave 0.5740 g of silver

chloride in Carius estimation. Calculate the percentage of chlorine

present in the compound.

https://dl.doubtnut.com/l/_TbI27wX9qMMB
https://dl.doubtnut.com/l/_XYJg3ZexYY1a
https://dl.doubtnut.com/l/_phYWUqtH0MQk


Watch Video Solution

67. In the estimation of sulphur by Carius method, 0.468 g of an organic

sulphur compound afforded 0.668 g of barium sulphate. Find out the

percentage of sulphur in the given compound.

Watch Video Solution

68. In the organic compound , the

pair of hydridised orbitals involved in the formation of:  bond is: 

A. 

B. 

C. 

D. 

Answer:

CH2 = CH– CH2– CH2– C ≡ CH

C2– C3

(a)sp– sp2(b)sp– sp3(c)sp2– sp3(d)sp3– sp3

sp − sp2

sp − sp3

sp2 − sp3

sp3 − sp3

https://dl.doubtnut.com/l/_phYWUqtH0MQk
https://dl.doubtnut.com/l/_imCtPZoKF8Pi
https://dl.doubtnut.com/l/_9jiOrWuiJLgq


Watch Video Solution

69. In the Lassaigne’s test for nitrogen in an organic compound, the

Prussian blue colour is obtained due to the formation of: 

(a)  (b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Na4[Fe(CN)6] Fe4[Fe(CN)6]3
Fe2[Fe(CN)6]

Fe3[Fe(CN)6]4

Na4[Fe(CN)6]

Fe6[Fe(CN)6]3

Fe2[Fe(CN)6]

Fe3[Fe(CN)6]4

70. Which of the following carbocation is most stable ? 

(a)  (b)  (c)  (d) (CH3)
3
C.

+

CH2 (CH3)
3

+

C CH3CH2

+

CH2 CH3

+

CHCH2CH3

https://dl.doubtnut.com/l/_9jiOrWuiJLgq
https://dl.doubtnut.com/l/_rsl1BEOklZVR
https://dl.doubtnut.com/l/_uOjC7JiHZfe1


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(CH3)C.
+

CH2

(CH3)3

+

C

CH3CH2

+

CH2

CH3

+

CHCH2CH3

71. The best and latest technique for isolation, purification and separation

of organic compounds is

A. crystallisation

B. distillation

C. sublimation

D. chromatography

Answer:

https://dl.doubtnut.com/l/_uOjC7JiHZfe1
https://dl.doubtnut.com/l/_yuELxuyQ3A7D


Watch Video Solution

72. The reaction : 

 


is classified as

A. electrophilic substitution

B. nucleophilic substitution

C. elimination

D. addition

Answer:

Watch Video Solution

CH3CH2l + KOH(aq) → CH3CH2OH + Kl

https://dl.doubtnut.com/l/_yuELxuyQ3A7D
https://dl.doubtnut.com/l/_QK5a9xVWs4kt

